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1. When 3% change in the quantity demand occurred with Unit elastic
supply curve, how much price will change?
1) 5% @ %
3 3% 4 2%
R TR G) @ W A T 9 & 99 3% qRedw A 3, af F F
fopcT O Brm?
) 5% , @ %
3) 3% @ 2%
2. MAXIMIN strategy in the game theory refefs to:

(1) Maximising the pay off
(2) Minimising the maximum return
(3) Minimising the minimum pay off
(4) Maximisingthe loasés

g fer # AP T @ e 2
(1) G (T-31%) A e HE
(2) e gfwe B FATH H

(3) AT PN Pl SAfeHH HTA

@) el B STfRERaH HE

PG-EE-July-2025 (Economics) Code-A
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8. [In a Cobb-Douglas production function with constant return to scale, F
when capital is increased by 5% but labour is constant, the output will
(1) Remain constant (2) Increase more than 5%
() Increase equal to 5% (4) Increase less than 5%

YR & R s A Fe-s o Ga ¥, o9 o9 A R TR g

T ¥ 5% A s & o 2, O v
1) R w@m @) 5% 9 e s

(3) 5% % SET T @) 5% q FH T

4. | A demand curve faced by a monopolist is p = 250 — Q and the cost

,’ function is C = 100 + 50Q. What will be maximum possible profit

earned by the firm?
(1) 9900 , (2) 9800
(8) 5500 (4) 6782

T CHIEEI B AT W p = 260 - Q B T AW FE C = 100 + 50Q 2

BH g At i g @ R e
(1) 9900 (2) 9800
(8) 5500 (4) 6782 - J

. PG-EE-July-2025 (Economics) Code-A
| (2)
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Th§ industry supply and demand functions are Qs = 500P - 250 and
Qa4 = 4000 — 400P, What proportion of the benefit of the subsidy will
be passed to consumer when the government gives subsidy of 0.5 per
unit?

(1) 56% © s6u

3 67% (4)  68%

S % RF 1 AT % Qs = 500P- 250 @ Qq = 4000 — 400P ¥
WISt @ A9 H1 R SFaI SRR % TR W ERR ORY 9% 0.5 @
it &t B

(1) 55% (2) 56%

3) 67% 4) 68%

Find the number of Labour after which marginal production becomes
negative for a firm having production TP =10 L — 12 ?

(1) 4 (2)5h

3) 6 ' (4 8

0% %4 % o Pmd SORT TPL = 10L - 2 %waﬁaamamaﬁm

m«%mwmmwa‘rw%?

W 4 @ 5
®) 6 @ 8

Code-A
(3)
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7. o The marginal utilities of goods A and B are 600 and 90W
mod B is Rs. 120. Find the price of good A if the consumer is in
| equilibrium.
1) 50 2) 60
® 80 (4) 90
W.AWBﬁWﬁwﬂﬁmeooamgoo%wa@Ba%m
5. 120%|trl%maara@a=rﬁ%€mavgq%amamml
(1) 50 (2) 60
3 80 (4 90
8. What will be Learner’s measure for a monopolist whose marginal cost
is zero? .
1 2 @ 4
3) 5 (@)l
mﬁwﬁmﬁmﬁmw%%maﬁwwwm?
1 2 2 4
3) b6 @ 1
9. Which one is unit less meésure of dispersion?
(1) Standard deviation - (2) Mean Deviation
(3) Coefficient of variation (4) Range
oo 7 g e A AT W
(1) sy e @) "e e
(3) fererer o 4) fER

PG~EE-July—2025 (Economlcs) Code-A
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Probability of throwing an even number with an ordinary six faced dice

is :
@ 1
@) 1/2 ; (4)
Th TR B: Gl G B O G qe o P g §

2 1/3
1/5

(L1 : (2):1/3

3) 1/2 4 1/5

When a new series is connected with the old series, it is known as

(1) Base shifting (2) Backward splicing

(3) Forward splicing , (490 Weights

9 T QO A ¥ 7 Wi g o 3, @ 7 peand
(@) SmER gitEe @) e e

3) ST fersmrett (49) X

Laspeyre’s Index number possess

@D Downw,ar_d’ bias (2) Upward bias
(3) No b;as ~ (49 Both upward and downward

r

A N g
@ TR R T AR R A




|

SET-X

Code-A
;Tsotiion Questions
13. | Probability of type-I error is called
(1) Size (2) Critical region
(8) Level of significance (4) Blue colour region
TRu-1 R N e FHEaw ¢
(1) SR (2) wifh &
(3) W B &R (@) e 1
14. | The arithmetic and harmonic means of two numbers are 5 and 3.2
respectively, what is geometric mean?
1) 0.8 : | 2 16
3) 8.2 4)- 4
A el H qHRR qU1 EUEE W FAS: 5 Gl 3.2 §, S A H
2rm? : |
(1 08 | @ 16
3) 8. 2 ' 4) 4
15. | When correlatmn coefficient r = 0.6, What will be coefficient of

non-determination?

1@ 04 , : (2 0.64

(). 0.36% - (9 0.003
/8 geEErd i r = 06% ﬂtﬁwwww?
(1) 04 it = (2) 0.64
(3) 0.36 Al ¢+ (4) 0,008

G-EE-July-2025 (Economics) C(ode-A
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16. | What is the limitation of product of two regression coefficient?
(1) Zero to infinity (2) Less than zero
(3) More than infinity : (4) Less than unity
QA ST OB D T b Qe
1) =/ | @ g9 @ %
(3) SN ¥ ot 4) BB q FH
17. |When Y = 3X + 4 is the regression coefficient of Y on X and
arithmetic mean of Xis — 1, what will be arithmetic mean of Y?
@ 1 ' @2 -1
(83" - ' @ 5
99 Y W X & SO 6 Y = 3K + 4 ® @1 X & 99 9 1
Y % SR AE HT 8
@ 1 A @ -1
@) 3 @ e
18. | The Binomial distribution is symmetric when
W P=1 £ @ P=13
@ P=12 7 R
fage faaeer w8 8, o |
(1) P=1. R (2) P = 1/3
@) P=1/2 ST AR 4 P=1/5

PG-EE-July-2025 (Econo.micé) C&;‘”‘A' b

{7

) i/
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19. | When mean and mode of a distribution are equal, what will be value of
skewness? |
1 1 2 2
8) Zero 4 3
S T (9O B WA T g q @, QR & A T 8
1 1 @2 2
G T (4)3
20. |[Whenr =0, the Cov(x, y) will be
()51 (2) Zero
@) 3 (@ Infinity
S r=0, Cov(x, y) 8
M 1 @ g
3 3 | 4) S
The proporti~on of population engaged in working activity together with

unemployed people, is called |
(1) Unemployed labour force (2) Labou_r force

(3) Work participation rate (4)  Gini coefficient

AT S & W e W9 & 5 A TR a1 o s
(1) PR @) AR

3) & qf@r sy @) R

PG-EE-July-2025 (Economics) C(%s;lé—A
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22. | The third state of production begins when

(1) Total production starts falling but MP is positive

(2) TP starts falling and MP <0

(8) TP is highest but MP <0

(4) MP starts falling

IR Hl A e I8 o 2 o

(1) T SART F9 BN Y& B & Wy O @ €T o B
(2) F ST FA B I S ¥ G4 MP < 0

(3) FT SR AfHH B ¥ 9T MP <0

(4 MP %H &1 g& 8 & '

23. | Value of constant returns to scale in Cobb~Douglas production function
i8 |
(1) Unity s | (2) Zero
(8) Infinity (4) Equal to APC
mmwwﬁhﬁ%wmﬂmm%
@) swé%w @ ™
@ @ Tdd@po) % T

24. | Find the macroeconomm vanable among followmgs ‘

(1) Priceofapen -',.;:}'-';"': foral ot ’(2) Demand of a pen
3) Income ofa professo ‘ '(4).: Nat1ona1 income
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Gross Domestic Product measures

(1) Government expenditure

(2) Consumption

(3) Total value of financial assets

(4) Total value of goods and services produced in a country
TR B SR A § |

(1) &R g

(2) ST
3) facig wRe=REl @ F WM
@) T 3 D AR R e el qur el w g A

What is unemployment rate?

(1) Workforce divided by total population

(2) Unemployed number divided by workfor;:e

(38) Unemployed number divided by total population
(4) Dividend population divided by workforce

AT &T 40 &7

(1) aﬁm?{ﬁﬂﬁﬁﬂﬂﬂaﬁ

2) FrEq @ fawfor STSTIRE &t e
(3) %A SEeA § iR e st
(4) Fdgq o fqwfdr a9 sTeer

PG-EE-July-20256 (Economics) (20(1)9-A
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27. | Phillips curve shows the relationship between

(1) Inflation and employment

(2) Inflation and unemployment

(3) Interest rate and investment

4 GDP and government expenditure

R % 3% o ey gy &
(1) a1 Wifd & IR

(2) T Wifq T SR

(3) I W@ Ry

@ S d & THER 7

When marginal propensity to save is 0.25, what will be Keynesian

28.
multiplier?
(1) 4 | @ 5
(3) 2.8 @ 8
ST o N EE ST 0.25 8, B H IO H SN
(1) 4 @ b5
3 2 4 8

929. | Increase in money supply in the long leads as
(1) Higher inflation | (2) Higher interest rate
(3) Credit control (4) Rise in tax
xferr ¥ T OO g 7 O A R R
(1) @ g1 W @ TN IW
3) ag g @ A g

iPG_.EE.‘E,July-2025 (Economics) Code-A
TP e _ . (11)
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30.

Recession is defined as
(1) Growth rate of GDP declines but it is more than zero for two

consecutive quarters
(2) Growth rate of GDP declines but it is less than zero for two

consecutive Quarters
(8) Growth rate of GDP becomes equal to zero
(4) Growth rate becomes negative for two days

¢V Gﬁétﬂaﬁ@qwﬁ%m%awmﬁﬁgﬁ%aﬁ?ﬁtﬁ
? | |

©) ﬁﬁﬁﬂq@aﬁ%m%ﬁwm@ﬁgﬁ%maﬁ%

@) S & & F afs | g B TER & S

@) e w A RA 3 R Fowe & ol ©

31.

Slowdown in India will occur when
(1) Growth rate of GDP declines but it is more than zero for two

consecutive Quarters
(2) Growth rate of GDP declines but it is less than zero for two

consecutive Quarters
(3) Growth rate of GDP becomes equal to zero
(4) - Growth rate becomes negative for two days

arq F oreferan @ 8l T o R SN

(1) aﬁaﬁaﬁg@ﬂm%mwﬁrwﬁmﬁﬁﬁmaﬁ%

(2),aﬁsﬁmﬂqﬁa'ﬂm%w%ammﬁﬁﬁaﬁ%msﬁ
(

3) st & @ @ gfe O R B SRER @ S ®

@) q@uaﬁﬁ%ﬁiﬁwaaﬁ%

PG-EE-July-2025 (Economics) Code-A
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33.
\

1

\

|

@ -4% @ 16%
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32. | One of the following items should be included by India in its GDP

(1) Sale of second hand scooter

(2) Rent earned by India property owner in Moscow

(3) Remittance received by Indian worker in Canada

(4) Value of motor cycle produced by German company in Bihar

Frefiied & @ Reae wRa @ ot & & & afufaa fear s aea:

(1) T3S 398 weX # [

(2) 9RA % TR A & AR 7 i B

(3) IR FiHE I HeT & oI 4

(4) 9 F gRT NER 7 Sied A qEihd 1 A

When growth rate of GDP at nominal price is 6% and at its real growth

rate is 10%, what is inflation rate (Using GDP deflator method)?
(1) 4% 2 5%

(3) —4% | @) 16%
o A g T ot & 6 3Rk aX6% © @ gE aried aig aX 10% B, a

a1 @it & a1 & (e Rvaex Rl @ s i)

(1) 4% 2 5%

G EE--July-2025 (Economics) Code-A

(13)
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34. |[When Cash Reserve Ratio (CRR) is reduced, there will be an

immediate effect as

(1) Decrease in money supply

(2) Increase in rate of interest rafe

(3) Increase in inflation target

(4) Increase in credit creation by banks

Gﬁwm@ﬁ(cm)mw%,ﬁrmmmm‘

1) T oyt § |

@ =W A E o

(3) T Wiy & w7 * g

@) S P g FEE F gs
35. | Interest rate in Taylor rule is related with

(1) Fiscal deficit (2) Primary deficit

(3) Inflation and output gap 4) Budget deficit

o P & e X @ g 5 b _

(1) TSN =T (2) o e

(3) AT WhRT O SR SN | (4) SO ST
36. | Cost-push inflation is caused by rise in

(1) Profit ' (@ Cost
(3) Revenue (4) Income
- ge1 whfr R gRe @ T B &

(1) @
(8) & 4) o

i

| PG-EE-July-2025 (Economics) Code-A

|
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[ In which phase of the business cycle, the cyclical unemployment will be
higher?

(1) Boom (2) Expansion

(3) Peak (4) Recession

R 6 Pl 6 e #, wee QA i il

1 se\ @ R

@) R @) T

When actugl unemployment rate becomes more than natural rate, it is

called

(1) Slowdown 2 ‘Béom

(3) Full employment (4) Recessionary gap

9 AR ST &T Wi &X @ A & Sl &, ¥8 FHowwn o
1) 4o @ B

(3) o W (4) HeHE SR

What do you mean by current account surplus in the economy?

(1) Import becomes more than export
(2) Country is net borrower from abroad
(3) Country is net lender to the rest of world

(4) Exchange rate depreciates
e # = @ e § w1 ShEE 3

(1) it 2t omem o i & o &

| | @ 2w, Rt & g Suret @ &
(3) 2w, 99 R # g& FORE 8 8
(4) ﬁﬁmawm&mﬂm%

ul5’-2025 (Economlcs) Code-A
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40. | When India experiences capital inflows, the Indian ¢ L

(1) Depreciate @) Appreciate
(8) Unchanged (4) [nconvertible
T W Gl 1 e e, o o 5 A
O FN R @ g e

@) omRafia @ . (4 eRade e

what will be its

41.

When Central Government increases its expenditur®

effect in IS-LM model :

(1) IS curve will shift left ward (2) LM curve will shift right ward
3) IS curve will shift right ward (4) Both IS and LM shift left ward
Wﬁﬂmmmﬁqﬁm%ﬁrmm—mmwwm
BT |

(1) IS T it SR g

(2) LM a% &t X Rewam

(3) IS g% Tt 3 Rawmm Sl

(4) IS @1 LM 9% a9t & arit ol Reawa

42,

Monetary policy will be more effective in IS-LM model when the LM is

(1) Vertical (2) Downward sloping
(3) Horizontal (4) Steeper

18-LM rew ¥ A A @ st w6 s Lve g .
(1) T @ A A R e

3) &fer | @ T T

—

'PG-EE-July-2025 (Economics) Code-A
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ﬁi’ Long Run Aggregate Supply (LRAS) curve will shift to left side when

| (1) Human capital increases

(2) Infrastructure investment rises

(8) Labour productivity increases

(4) Capital stock destroys

QUFR T ) (LRAS) @ aiff ik Rewes s of:

(1) AFEE Yol Ted 8 @) T e FaY gedr &
(3) %M JUREHM TNl & @ o ®ie T & [T o

44. |Under variable exchange rate system, the expansionary monetary
policy will lead to

(1) ”Capital outflow

(2) Currency depreciation

(3) Rise in investment

j - | (4) Capital outflow, currency depreciation and rise in investment
e R T S, R A A & A

‘ (1) Goit 1 St

(2) T N AT
3) fraw 7 gfs

(4) Yoit sfeT, gmmqmwﬁ%&rﬁq&(

PG-EE-July-2025 (Economics) Code-A
(1 7
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45. | On the basis of Mundell-Fleming model and perfect capital mobility,

what would you like to suggest

(1) Monetary policy is more effective than fiscal policy when there is
fixed exchange rate

(2) Fiscal policy is more effective than monetary in fixed exchange rate

(8) Monetary policy is effective in fixed exchange rate

(4) Fiscal policy is ineffective in fixed exchange rate

TRT-RET AT qu G P e 3 SR T T F G

qE= HCI?

1@ Wﬁmaaﬁwm@mﬁmmmmqmm

2K ®
2) Wﬁmﬂﬁmﬁmmﬁﬁmmﬁwéﬁﬁ%
3) R R aX § A% A S e @
(@) fe Rt ax & Tomhda AR o A §

46.

What is the primary function of IMF?
(1) Long term loan for infrastructure

(2) Promote free trade
3) Exchange rate stability and short term balance of payment

support
(4)' Regulate oil price.
o7 9.0 T A B 7

(1) o EeE b R A H

(2) @d AR P TG

(3) e aT Rewar quT SR G Hge e
4) ¥ A DAt B

‘i PG-EE-July-2025 (Economics) Code-A

(18)
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What is the primary function of WTO?

(1) Money lending to member nations

(2) Military support to member nations

(8) Free and fair trade among member nations
(4) Regulate labour standards

Y A N W e 1 w82

(1) W W N &7 YR 3T

(2) T W A 4 Few

(3) TEH 3 & " WA qur e AR

(@) =9 9 B A

48.

In floating exchange rate regime, the depreciation of domestic currency
leads to

(1) Increase import and reduce export

(2) Leaves trade balance unchanged

(3) Increase export and reduce import i

(4) Changes interest rate

e e T aer #, e I B e W
1) o # gie qur frafa & &0 8 @

(2) FYR T omRafd e &

3) Frafa & gfe aur s & & e B

(4) = v oRafia et §

:PGhEE-July-2025 (Econormcs) Code-A

- (19)
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49.

Marshall-Learner condition states that currency depreciation is

effective when

(1) Sum total of elasticity of import and export is more than one
(2) Sum total of export and import elasticity is less than one

(3) Sum total of export and import elasticity is equal to one

(4) Export is equal to import

RG-SR I Feh @ o qaT Pl oraed qq gu 8 o

(1) S o e @ @ ga et @ @ s e
(2) SmEE T Fald @ A= g Pt o § FH 8
3) T qur Frfd @ A B P & & STl 8
(4) FER AR FEE SR &

50. | Which sector contributes highest share in India GDP?
(1) Agriculture (2) Industry
(8) Service - (4 Mining
2 T & 9T @ A F i e I 87
@ I @
(3) @ . GINCR

51. | Which five year plan emphasized on inclusive growth?
(1) First (@ Tenth ‘

(3) Eleventh (4) Sixteen
m@mﬁﬂm%mﬁsﬂﬁmwﬁr{ﬁw

1) e (2) Tl
3) Edl 4) Qe

‘ PG—EE;July-2025 (Economics)

Code-A
(20)
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FRBM Act 2003 aims at '

(1) Money supply control (2) Food security
(8) Regulating banks (4) Fiscal discipline
T R §t @7 i 2008 & R D

(1) &1 oMYt W Frgeor 2) GE g

(3) Sl Fr 4) TN ST

Which sector has the highest unemployment rate in India as per |

periodic Labour force survey? |
(1) Rural female graduate (2) Rural male graduate

(3) Urban male graduate (4) Urban female graduate
STafeh & ST §99T & AR ARG § fhe & § SRS X waie 37

(1) I AR Fsee 2) AT g5Y INjee
(3) &N IOV AT @ =l AR A

India’s external sector is characterized as :

(1) Current account surplus and capital account deficit

(2) Capital account surplus and current account deficit

(3) Fixed exchange regime

4) Non-convertibility of rupee on current account
AR & a1 & @ A §

(1) =g @ren TR & Yol g e

(2) Yoit @ SR Qo e @ Hrer

3) R fafma e

(4) I @A A B9A P SUREE

.::'- ' PG-EE-July-2025 (Economics) Code-A
o | (21)
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m

. bb.

Twin balance sheet problem of India is referred to :

(1) Corporate can’t pay and bank faces NPA

(2) Exchange rate and interest rate

(3) Public and private sector
(4) Rich and poor
IRA H e a9 e § awd @

ey mﬁwaﬁmww%@tﬂqmmm%

Q) RfFE X qu I I
(3) TSI aur el &
(4) o g e

56.

Goods and Service tax aims to

(1) Unified national market

(2) Increase indirect tax

(3) Reduce govérnment expenditure
4) Production based tax system
aeg T A1 FX H RAE -

(1) T TET T

(2) I HT I

@) a7 7 HH

(4) TG SR BT O

PG-EE-July-20256 (Economics) Code-A
(22)
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Multldlmensmnal poverty in India is measured by NITI Aayog using

Gini coefficient

(1) Headcount ration (2)

(8) Import cover | (4) Alkire-Foster Index

wﬁﬁmﬁmww%mmmmmm

ST 87
(1) S d& STgu @ Rl et
(3) STAI STEXT @ HARBR-HIET TIBID

High Powered money (H) is measured by :
(1) Currency in circulation + Vault cast of banks + Banker’s deposit

with RBI
2) ' Currépcy in circulation — Vault cast of banks + Banker’s deposit
with RBI |
3) Currency in cir
with RBI
(4) Currency
with RBI
3 o 35 (D) 7 A o
(1) Wﬁy+%ﬁﬂmﬂwﬂ+wﬁa€ﬁ%ﬁwﬁm
@ =@ & g - 1 o Rl T+ oK o ot ¥ St @ AW
® Wﬁgm+ﬁﬁaﬁmwﬁ TR o o ¥ St b PR
(4) = # 5T - ot o Rl T — Waﬁaﬁﬁﬁﬁwﬁm

culation + Vault cast of banks — Banker’s deposit

in circulation —Vault cast of banks — Banker’s deposit

Code-A
(23)
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69.

Money demand in Keynesian theory depends on
(1) Income and interest rate

(2) Price and interest rate

(8) Exchange rate and import

(4) Exchange rate and interest rate
I P Rrar F g o At it D
(1) 9@ W@ & W | |
(2) A T I W W

(3) fafFmE X w o W W

@) (M /R G 6 AW

60.

In Fisher’s Quantity theory of money, the price level is directly

proportional to

(1) Money supply , (2) Real output

(3) Velocity of money (4) ‘Income

Rparc % BT 3 ORETT R , HA R A AT o §
1) @ gt | (2) ardia® IR |
@) 7a1 & @ AT 4 (4) oW«

PG-EE-July-2025 (Economics) (Zgge-A




SET-X
Code-A

Questions
No.

 61. |Selling government security in Open market operation leads to

(1) Decrease in money supply
(2) Increase in money supply
(3) Rise in inflation

(4) Rise in foreign exchange reserve

Qo A B el F werdt wRREl & e & oE B
1) T B gl F @ @ # R F ahs
3) TEER ¥ gfs @ R R e oRe

62. [ A contractionary monetary policy in IS-LM model leads to

(1) Rightward shift of IS curve
(2) Leftward shift of IS Curve
(3) Leftward shift of LM curve
(4) Rightward shift of LM curve

IS-LM Titeq ¥ e A R s aven ®
(1) IS 7% FI afes AR RawwE |
2) IS 7% # af o fewepE
1@ LM &% % qrd $lX e
(@mwmeMW
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63.

In Friedman’s modern Quantity theory of money, the demand for

money is a function of

(1) Income

(2) Asset

(3) Interest rate

(4) Permanent income and return on assets

BT 3 YR B oMy R §, G A AT O H €
1) g =¥

(2) IREHRT

(3) &N & &l

@) TR o T UREEREN W T H

64.

Liquidity trap occurs when

(1) Interest rate rises and people want to hold cash

(2) Interest rate becomes very Jow and people want to hold cash

(3) Interest rate rises a level where people want to buy bonds
(4) Central bank prints excess money

o S a9 el & I '

(1) o7 & GG & A T T e §

) Wﬂﬂ@ﬁﬂ@ﬂﬁ%ﬁﬁﬂﬂﬁﬁmﬂ@%
3) Wﬂwmwa@?ﬁ%aﬁ@ﬂm@ﬂwmﬁ% |

:(4)‘m§$aﬁﬁwgmm%

PG'EEf;Iulyf-2025 (Economics)
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Question Questions
r'sr% When reserve ration falls, the money multiplier will
(1) Increase (2) Decrease
(8) No change (4) Become zero
V9 SHQ STYU A BN 8, AT W F -
1) 3R e 2 F rh
| ®) FR uRedw T A 4) = & smEm
66. | According to Taylor rule, the central bank adjusts interest rate based |
’ | on |
(1) Political objective
(2) Inflation
3) Exché.nge i'ate .
4) Outplit growth and inflation target deviation
W%W%Ww%%wmﬂmmwmam%
(1) TRl I
@) T el
(@) ffma
(4) Seare gRe qur a1 Wiy @ 7 e
67. | What was India’s real GDP growth rate in financial year 2024-2025?

(i 5,6%s &> whia 2 6.5%
(3)  4.8% ' 4 7.0%

| esitg a9 2024 - 25 ﬁwaﬁmﬁmvﬁmqﬁgﬂweﬁ?
(1) 5.5% (2 6.5%
(3) 4.8% @ 7.0%

e
et
At
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68. | The great divide year of Indian demography history 18

(1) 2011-2021 @ 1911-1921

3) 1757-1857 4) 1991-2001

WA STHifbH SR &1 Fefawor av @ :

(1) 2011-2021 (2) 1911-1921

(8) 1757-1857 (4) 1991-2001
69. | The GDP growth rate of post independent India became negative in

(1) 2019-2020 @ 2020-2021

(3) 2021-2022 (4) 2014-2015

Wﬂwmﬁ@ﬁq@ﬂwwmaweﬁg

(1) 2019 — 2020 2 2020 - 2021

(3) 2021 —2022 (4) 2014 -2015

70. According to Reuters poll, Forecasted India’s GDP growth rate for

| 2025-2026 is

1) 6.4% | @ 6.5%

(@) 7.4% 4 7.3%
m%@m%mﬂ,wﬁmqﬁiﬂﬂzozs-zeamm
T A © _

(1) 6.4% 2) 6.6% |

@) 7.4% 4) 7.8%

PG-EE-July-2026 (Economics) (zgg)e-A




SET-X

Code-A

Questions -

What was the Consumer Price Index (CPI) inflation of India in May
2025?

1) 28% @ 8.2%
8) 4.0% d) —4.8%
TR 2025 § ARG P IR T GEHE (CPI) 7 17
Q) 28% (@) 3'2%
Q) 4.0% | @) - 4.8%
72. | What is the RBI benchmark repo rate as June 2025?
1) 5% . (@ 55%
3) 6.3% 4 6.5%
I 20253 o AR ft o B e I T ;M &7
(1) 5% it e (2) ' 5.6%
3) 6.3% | @ 65%
73. | How much did India’s forex reserve is the import cover month in May

2025?
(1) 9 months around (2) 11 months around
(3) 8 months around (4) 6 months around

7 2025 % ARAG PR AT HER PR e D oMW @ QW I P R
T 87

| o o @ TMUTE

(3) T 8 e @ T 6TE
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According to Financial Stability Report 2026 of RBI, the gross non-
performing asset is :

1) 2.6% 2 1.6%

Q) 7.2% 4) 6.3%

AR & o M B Recer RO & o, g IR-Fref dRa €

(1) 2.6% 2 1.6%

@3) 7.2% 4) 6.3%

75.

What do you mean by Goldilock situation of an economy?
(1) An economy with moderate, sustainable growth

(2) An economy with high recession

(3) An economy with high inflation

(4) An economy with high unempolyment

Reet et 3 M Rafy & @ o 87

(1) e Ud T R a e

(2) T A Al ST

| (3) = geredifty Al erdferaee

4) Se SRS are v

76.

Who propounded the theory of maximum social advantages?
(1) Ricardo (2) Friedman

(3) Keynes 4) Hugh Dalton
sty amws a & R e P &7

) faeEt 2) SRR

(3) @ | (4) T SReA

"L.
b
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[ERTY:

The principle of equity in taxation reflects
(1) Cost of service principle (2) Benefit principle
(3) Ability to pay principle (4) Proportional taxation policy

FAAT F T S Rt & B g &
1) ¥ H T F R @ v e
() X Y &war F Rysr (4) ST BT el

78.

What is Laffer curve?
(1) A curve that shapes like laughing monk

(2) Curve showing relationship between income and expenditure

(3) Curve showing inverse relationship between tax rate and revenue |

(4) Curve showing direct relation between tax rate and revenue

BT 956 T 27

| (D) 7' T e AR 6 g4 Py B T @ e B

(2) @ T &4 F TH T RGN aT
(3) 98 9% W F B W T AT D 7 Ao T aytar
(4) 98 T St FX B W T A B 9 Py g aghar S

79.

The primary objective of the government budget is to

(1) Increase profit (2) Increase tax

(3) Increase public welfare (4 Reduce consumption
T FTE 1 D R R ‘

(1) @ # gfg & : (2 & H gRE HT

() WHE B A g B (4 ST § S

'PG-EE-July-2025 (Economics) Code-A

(31)




SET-X
Code-A

Questions

80.

The term “crowding out effect” in Public finance refers to

(1) Increase government spending and reducing private investment
(2) Increase government borrowing and reducing private savings
() Increase government subsidy and increase inflation

(4) Rise in investment and reduce interest rate

‘PRI e WA F WSS e B ded F o @

() T S e ¥ s o Pt P A A

(2) WHR B Pt § gis qur Folt s=at F B

)] mﬁamﬁq@wgm@ﬁhﬁqﬁi :

@) Ry ¥ gfs oo == ) A

81.

Harrod-Domar growth model emphasizes on
(1) Human capital |

(2) Natural capital accumulation

(3) Savings and capital output ratio

(4) Labour force growth |
Sie-dmY e e Ay Jd AT ® ¢

(1) AFE Pl T

(2) SR P T T

@) wFa ¢ ol ST S T
@) #9 94 3fE W

PG-EE-July-2025 (Economics) Code-A

(32)




SET-X

Code-A
rﬁ&f"“ Questions
[ 82. |In the Solow growth model, per capita output growth in the long run
depends on
(1) Capital accumulation
(2) Population growth
(3) Technological progress and capital labour ratio
(4) labour supply
A & R e m-wmammq@amﬁm :
1) T 1 ®
(2) FEE g |
(3) THIH T T G 5 o W
4) =M oyt W *
83. | A.K. Model shows that growth can be continued in the long run without
' (1) Technological progress (2) Population growth
3) Governmenf intervention (4) Human capital accumulation
| @, e e & s e o R e o o 1 o &
(1) Tl ST (2) STTEE gia
@) wETE®™T (@ "W
84. | Capital accumulation under Golden rule of Solow’s Growth Model
maXximises -
(1) Consumption per worker (2) Revenue per person
(3) Wages per worker (4) Interest rate
A & R et & et & B S GO o o B 2 D
(1) ofe 4t ST (2) Wi =R ST

1 PG-EE-July-2025 (Econonncs) Code-A
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85. o

Kaldor facts primarily describes about
(1) Long run economic growth regularities

(2) Short run economic growth
(8) Trade cycle

(4) Demand side fluctuation

FER 3 Tebt ¥ g w9 F qoi R
Q) QefFRE ol g Frafaaet &
(2) BRI Ihs X H

(8) NX HEE H

(4) T 9N B I=EE B

86.

Steady state level of capital accumulation in Solow model is achieved
when

(1) Capital per worker is remain constant

(2) Savings per person is constant

(3) Output per worker is maximum

(4) Savings is equal to investment

Qﬁmﬁ?ﬂwmﬁmmmmmmw%m
(1) sRY s ool e & @

(2) sty @i T R &l

3) mmmamam

4) ot FrRe & v Al R

PG-EE-July-2025 (Economics) Code-A

(34)




e

Questions

<« 4 \”\
Knife edge problem is agsociated with

(1) Solow model (2) Harrod-Domar model

B) A.K. Model (4) Ramsey model

R B U T wwaf §

(1) AN AT A @ Ye-dw A @

() T®. Hizw @) TR AT A

Who formulated first time the theory of comparative advantage?
(1) Paul Krugman ) David Ricardo

(3) Hecksher . (4) Singer

eI T T AT G R S Rear?

1) o g @ e Repwel

(3 ¥ 4 ER

According to Heckscher-Ohlin (H-0) theory, a country will export goods

that use |
(1) Imported technology (20 Own technology

Comparative advantages

(3) Abundant factor intensity 4)
| SarcaieReet (O-H) R $ OgAR, 98 3 aegell H Rl v A s

e &l
1) s T
(3) g HH T

© @ R T
(4) GEEIETH AW

ey ics) Code-A
EE'July-2025 (Economlc ) (35) :
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Which theory is contradicted with Leontief Paradox?
(1) Adam Smith

(2 Ricardo

(3) H-O theory

(49) Product life cycle theory

B W Rrar Reiis R &1 @ aa 27

(1) TF Ry

2 Rt

(3) T3 Rrsr

(4) SEE SieT =6 =

91.

Stolper-Samuelson theory suggests that trade liberalisé.tion

(1) Harms all factors of production
(2) Benefits labour and capital

(3) Benefits abundant factor of production

(4) Benefits scarce factor of production .
RaqT-Jrgead e #1 gad & b S SardeR
(1) TEET & adt ae el agE @

@) 49 ud gofl A ggeE 8

(3)' SEE & TEC A A A uge @

(4) SR B gE e B ge 8
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The “terms of trade” refers to
1) Th i
(1) € rate at which one country’s good is exchanged with another
(2) Ratio of exports to imports in quéntity
(3) Price level differences

(4) Exchange rate ratio

‘MR T A e Y

(1) & I P W T 20 g & aegelt 1 RFFET H
2) i & smEmt &1 9 orgua

(3) @A &R ¥ =K

(4) fafFma =X ergum

In Ricardian model, the international trade is caused by

(1) Differences in labour pfoductivity

(2) Differences in exchange rate

(3) Differences in capital stock

(4) Preferences

m%mﬁmwaﬁww%:
1) o S # T

(@ ffma & # a

@) ot i # o

(4) st

“ Code-A
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94. | Who has developed “product life cycle theory” of international fiace

(1) Raymond Vernon

(2) Adam Smith

(8) Ricardo

(4) Ohlin
m@“w%“mﬁw%mvﬁmﬁﬁzﬁmm?
1) [ T s |

(2) TeH fy

@) ReEl

4) el

95.

Bilateral trade flows, under gravity model, are directly related to
(1) Exchange rate :

(2) Political alliance

(3) Comparative advantage

(4) Size of economies and distance

TR Ateq @ o, FETT AT SFETe 1 W ey R
1) R A
(2) oD ST

(3) gD o
(@) eaenel @ ot o 50
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[ 96.

(2) Transform revenue into expenditﬁre

B) Solve unconstrained problems

(4 Solve inequality

T P 7, aﬁﬁwwmmmmww%
(1) ST & it s § oRaRfa s

(2) oW B F ¥ Fee

(3) ST T TG B & HEA

(4) FTFHAFCT BT T HT

InC imizats
onstrained Optimization, the Lagrangian function is used to

1 .
(1) Transform constrained problem into unconstrained one

97.

For what purpose the Hexian Matrix is used?

(1) To determine utility

(2) F\irst‘ oi'der condition

3) To determine concavity or convexity of a function

(4) To get slope of budget line

P T @ B AR @ v A 87
(1)« ST 1 FAEiReT B

(2) 999 F9

(3) T e i Iail STeET STgaar & iRy

@ m%@r%mmwm

‘PGEE
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98. | What will be marginal rate of substitution of utility fm
& R
e @ xly
8) ay/bx (4) ax/by
| ST HE U (X,Y) =X°Y® &t e @ dmr @ Brit?
@ ahb @ xly
(3) ay/bx | (4) ax/by
99. | Saddle point in a Pay off matrix in game theory implies
(1) General equilibrium (2) Nash equilibrium
(3) Maximin (4) Minimax
B i & X off AR ¥ deq dnw @ oftEE ©
(1) qE age (2 9 g
3) ARERE | @ RFEE
100. | A quasi concave utility function implies
(1) Convex indifference curve (2) Concave indifference curve
(3) Linear demand curve . (4) Decreasing returns to scale
ug ATl JTaad ST Fe & A ©
(1) IO qeedd I (2) SAIAS ACHCAT T
@) da # @ W g IR S s

PG-EE-July-2025 (Economics) Code-A
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Date of Examination :
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CANDIDATES MUST READ THE FOLLOWING INFORMATION/

INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.

1. All questions are compulsory. 7 ;

9. The candidates must return the Question book-let as well as OMR
answer-sheet to the Invigilator concerned before leaving the Examination Hall,
failing which a case of use of unfair-means / mis-behaviour will be registered
against him / her, in addition to lodging of an FIR with the police. Further the
answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by
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4. Question Booklet along-with answer key of all the A,B,C and D code shall be got
uploaded on the University Website immediately after the conduct of Entrance
Examination. Candidates may raise valid objection/complaint if any, with regard
to discrepancy in the question booklet/answer key within 24 hours of uploading
the same on the University website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no
complaint in any case will be considered.

5. The candidate MUST NOT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NpT be ticked in the Question book-let. :

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

7 gﬁe otnly Black or Blue BALL POINT PEN of good quality in the OMR Answer-

eet.

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD
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BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE
EXAMINATION. - %
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(1) Base shifting

(8) Forward splicing

)
4

1. When a new series is connected with the old series, it is known as

Backward splicing

'Weighté

& T QO Ao 7§ 7 @1 A el €, A 98 Feawd @

(1) ¥R IRa (2) 9= faTST

(3) ST R @4 %KX
S s

) Dovawardbiasl (2) Upward bias

(3) Nobias (4) Both upward and downward

@ A2 R g (2 TN H IR gIA

1@ % gm T 4 SR H AR A H AR

3. |Probabim ol pdtiscallodie.

(1) “Bizo s s ' @ Oritical region

(3 Level of signiﬁcaﬁ@ (4 Ble colour region

SRR )

I (2)@1%* &

@ wmEw @ dmt
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4. The arithmetic and harmonic means of two numbers are 5 and 3.2
respectively, what is geometric mean?
(1) 0.8 (2 16
3) 8.2 4 4 :
q S B gHRR my(’s%wsmw P 5 AT 3.2 B, g e
BRTT?
@) 08 | @ 16
B8) 8.2 wpaloi (4) Ted
5. When correlation coefficient r = 0.6, 'what will be coefficient of
non-determination?
(1) 0.4 2 064
(3) 0.36 (4) 0.003
O HEEY IOl r = 0.6 &, IR MRET 7% 41 2
1) 0.4 (2) 0.64
3) 0.36 ‘ 4) 0.003 :
6. What is the limitation of product of two regression coefficient?
(1) Zero to infinity (2) Less than zero
(8) More than infinity + (4 Less than unity
& AT o F TR B A a8 1
() I q @ @A
(3 o | it 4 R

PG—EE—July-2025 (Economics) Code-B
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7. When Y = 3X + 4 is the regression coefficient of Y on X and
arithmetic mean of Xis — 1, what will be arithmetic méan of Y?
1 1 2 -1
@) 3 4 5
59 Y W X F TAFFEA 6 Y = 3X + 4 & T X B TR qTH 1 8,
Y I §IIK ATeA 4 8
@ 1 2 -1
3) 3 ' @ 5
8. The Binomial distribution is symmetric when
Q) P=1 @ P=1/3
3 P=1/2 4 P=1/5
faue faaRer ofia 2 @, S
1) P=1 - @ P=1/3
3) 'P=1/2 4 P=1/5
9.

When mean and mode of a distribution are equal, what will be value of

skewness?
1) 1 2% 52
3). Zero 4 3

m@mwwwwwa,ammmwm?
@) L g(oytio

3 I i@

PG-EE-July-2025 (Economics) Code-B
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10. | When r =0, the Cov(x, y) will be
@ 1 : (2) Zero
3) 3 (4) Infinity
S¥ r =0, Cov(x, y) BN
(@1 . @ T
@ 3" - @) o=
11. Stolper-Samuelson theory suggests that trade hberahsatlon
1 (1) Harms all actors of productlon
!
‘: (2) B’eneﬁts lé.bfour and capital
\ :
\ 3) Beneﬁts abundant factor of productlon
é 4) Beneﬁts Scarce factor of productmn
? XA AT »mm-vaar%gm;% 5 A ST
4
: ) w%wmaﬁ'mﬁam%
‘; ;
< ;
4
3.
iﬂ i+
&
f&‘ PG-EE-July-2025
N I
.
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A
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12.

The “terms of trade” refers to

(1) The rate at which one country’s good is exchanged with another
(2) Ratio of exports to imports in quantity
(38) Price level differences

(4) Exchange rate ratio
‘IR F qd” § AREE R .

(1) T& & P | 0F 0 g Q@ aggelt F f@fmy e
(2)ﬁaﬁf%amﬁraﬁrwaﬂqﬁ |

3) Fa & A o=

@) R R T

13.

In Ricardian model, the international trade is caused by
(1) Differences in labour productivity
2 Diﬁ'erences in exchange rate

3) Dift"erences in capital stock

(4) Preferences

.ﬁmﬁ%mﬁm@wwaﬁﬂm%
@) mwmﬁw

@ P wde

(3) 9 ® ¥ om e
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Who has developed “product life cycle theory” of international trade?

(1) Raymond Vernon

(2) Adam Smith

(3) Ricardo

(4) Ohlin

ST AR & “IAE g o e $ e faenir fpar?
1) 98 T+

(2) T foy

3) Rt

@) ke

Bilateral trade flows, under gravity model, are directly related to
(1) Exchange rate

(2) Political alliance
(3) Comparative advantage.

(4) Size of economies and distance

Wﬂm%aﬁﬁa mwmm#ﬁmm%
(1) faffma s
(2) O oS

(3) T A
4) aﬁw@wwﬁg&
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In Constrained optimization, the Lagrangian function is used to

(1) Transform constrained problem into unconstrained one

(2) Transform revenue into expenditure
(3) Solve unconstrained problems

(4) Solve inequality
T ST §, SHOET e H A B S @ HR E

(1) ST G HI STERGe § GRafid BT
(2) M B AT { &

(3) ST e AT B & BT
(4)'m.$rm,m

For what purpose the Hexian Matrix is used?
1) To determme utlhty o

(2 Fn'st order cond.ltmn '-,nm:

| (3) To determme concav1ty or convex1ty of a functlon

4 To get slope of budget“hnm:!' 5
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18. | What will be marginal rate of substitution of utility function U (X,Y) =
K222
(1) ah (2 =xly
(3) ay/bx (4) ax/hby
SR % U (X,Y) = X2 YP 3t sferedrs 3t @i &3 741 amie?
(1) ah 2 xly i
(3) ay/bx 4 ax/by
19. |Saddle point in a Pay off matrix in game theory implies
(1) General equilibrium (2) Nash equilibrium
(3) Maximin (4 Minimax
T e & ¥ it Afteg § dsq 9r= @1 ot ®
(1) = Ege (2) 9 g
, (3) AfrERE (4 T
20. | A quasi concave utility function implies ;
(1) Convex indifference curve (2) ' Concave indifference curve
(3) Linear demand curve (4) Decreasing returns to scale
TS SR e SHAIRr G & A R
(1) IO dCEA aF . (9 Gaw qeREE 9%
(3) &9 A T @ = B WM 3 uiie
21.

What was the Consumer Pnce Index (CPI) inflation of India in May
2025? z ~
1) 2.8% o 2 3.2%

(3) 4.0% @ -48%
qézozsﬁwwaqﬁﬂgmw(cpnwm?
(1), 28% So ‘ 2 399

o B €l 7 e, e

@ 40% ; @ -48%
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22. | What is the RBI benchmark repo rate as June 20257
1) 5% (2) 5.5%
(3) 6.3% , @) 6.5%
|5 20253 R o & ofE A e I T A &7
Q) 5% g 2 5.5%
| (3) 6.3% 4) 6.5%
53. How much did India’s forex. reserve is.the import cover month in May
2025?
(1) 9 months around (2) 11 months around
(3) 8 months around : (40 6 months around
qézozsﬁm@ﬂﬁ%&ﬁgﬁrﬁmmﬁms%mﬁwm%m 4
(1) TETOTE (2) T 117E
@) wWT8WE (4) T 6 TE
24, Accordingv to Financial Stability Report 2025 of RBI, the gross non-
performing asset is :
(1) 26% i ot & @ 16%
@) 72% (@) 6.3%
Wé’fﬁﬂﬁﬁﬁ?ﬂﬂmﬂlﬁ%w e -Preaier e @ :
1) 26%_ WL L 2 16%
@) 72% . i (4)' 6.3%

PG—EE-July-2025 (Economms) Code—B
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25. | What do you mean by Goldilock situation of an economy? T
(1) An economy with moderate, sustainable growth
(2) An economy with high recession
(3) An economy with high inflation
(4) An economy with high unempolyment _
el Sreferaree 1 Mo Refy & Far St R7
(1) A& O |od O ardl srefegawn
| @ == 9= it sreferae
(3) = YEIHIN dTcil STeieaes
(4) S= SUSM Al STeeraes
26. [ Who propounded the theory of maximum social advantages?
(1) Ricardo (2 Friedman
(3) Keynes ; (4) Hugh Dalton
ST AT A % & &1 IS B 87
(1) Rt | @ e
(3) @ (4 & SRS
27. | The principle of equity in taxation reflects T
(1) Cost of'service Pl'inCiPIQ - (2) Benefit principlt;
(3) Ability to pay principle (4)  Proportional taxation policy
HUATT & G B R H R Y
O WHATHRET (@ W ke
(3) BT T & T RFET (4) IR HAQ AR
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28. | What is Laffer curve?
(1) A curve that shapes like laughing monk
(2) Curve showing relationship betwgen income and expenditure
[ (8) Curve showing inverse relationship between tax rate and revenue
4 Curve" showing direct relation between tax rate and revenue
A% a5 1 o7
(1) 98 b o STHR E6d g3 By & TR & & 8
(2) I T I B A TS R@M AT T
(&%Wﬁﬁﬁﬂﬂ%@%ﬁﬁ@ﬂ@ﬁ%
@) aaa%aﬁwq%ﬂwam%ﬂwmamqm% :
29.

The p'rimary objective of the goverr_;ment budget is to
(1) Increase profit L)
(2) Increase tax

(3) Increase public Wélfare,

4) ‘Reduce consumption

T o W oRE _E T R
(1) @ ¥ g HE |
() FT ¥ gha B
(3) WHEwH HET ¥ gRE HEN
(4 I B A

PG-EE-J uly—2025 (Economcs) Code—B
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30. | The term “crowding out effect” in Public finance refers to

(1) Increase government spending and reducing private investment
(2) Increase government borrowing and reducing private savings
(3) Increase government subsidy and increase inflation

(4) Rise in investment and reduce interest rate
“PRRT e TE” F A o @ dad § IE ®
(1) TR % @ ¥ gh e e P

(2) TR & Fo H ghe qr ot S=al & F4

(8) §XEN Wewdr § giw aur ga1 Wit ¥ gis

@ Fag § gfs 7o = X &

Which five year plan emphasized on inclusive growth?

31.
(1) First . (2) Tenth
(3) Eleventh A (4) Sixteen
Eﬁﬂ%ﬁqaaﬁwmﬁwﬁsﬁﬁmwﬁﬂ‘{ﬂm?
(1) et | (2)
(3) "REd | @ e

32. |FRBM Act 2003 aims at _

| (1) Money supply control ‘ (25 Food security

(3) Regulating banks (4) Fiscal discipline -
Th O ft T SHfafE 2008 FM RE ¥ :
(1) T omgfd W FE=r @ T G
3) St @ e 5 _(4) TR ST

PG—EE-July-2025 (Economlcs) Code—B & ihinre
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33.

Which sector has the highest unemployment rate in India as per

pe;‘ibdic Labour force survey?
(1) Rural female graduate
2) Rural_ male graduate

(3) Urban male graduate

(4) Urban female graduate
Wwwaﬁm%wwﬁﬁmﬁaﬁéﬁwﬁﬂmﬁ

(1) IT AR I9ee
(2) T goN IgUE
(3) TE0 gov e
@) &0 AR e

34.

India’s external sector is characterized as :
(1) Current account surplus and capital account deficit

(2) Capital account surplus and current account deficit ¥

(3) Fixed exchange regime

(4) Non- convert1b1hty of rupee on current account

R CECERCE kR
<1>-wmmwmwm
(2) ol @ SHeRF T =G S =l
(@) Rox Rfom amen

1@ w@%ﬁm#mﬁaﬁﬂm

PG—EE-July-2025 (Economlcs) Code-B
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35.

Twin balance sheet problem of India is referred to :
(1) Corporate can’t pay and bank faces NPA

(2) Exchange rate and interest rate

| 3) Public and private sector

4 Rich and poor
IRA B el S e & ad ©

‘(1)'mitaﬂmﬁﬂ€rmmw§$@ﬁqwmm%

(2) ffma T &I |
(8) e qor et 8
@) a?ﬁqéﬁéa

- 36.

) Increase md1rect tax

Goods and Service tax a1ms to

@) Umﬁed natmnal mgrket

AP e S

R "i" 15

1
¥4 0N |

(3) Reduce government expend1ture

4) Productlog ,‘9%9941 .tag: syste
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Multidimensional poverty in India is measured by NITI Aayog using

37.
(1) Headcount ration (2) Gini coefficient
(3) Import cover (4) Alkire-Foster Index
qa ¥ qgomrd Feer @ oA AR o aw R gam w5 e
S &7 '
(1) e @ e T
(3) SIAWT AT @) SHfeR-BIEY IS
38. | High Powered money (H) is measured by :

(1) Currency in circuiation + Vault cast of banks + Banker’s deposit
with RBI - Bt

(2) Currency in circulatiox} — Vault cast of banks + Banker’s deﬁosit
with RBI :

'(3) Currency in circulatioﬁ + Vault cast of banks — Banker’s deposit
with RBI

(4) Currency in circulation —Vault cast of banks — Banker’s deposit
with RBI

I 9T 9T (H) 1 A AT ST §

() = & o1 + I B ool R + o) 1 o | St AW

@ = & g — ¥ B R T + o) @ o ¥ ¥ a0 P

3) Wﬁgm+_§##mm—mﬁwﬁﬁiﬁ'ﬂﬁm |

(@9 T F g7 — o G RO T - oR @ o & &t @ Pl

PG-EE-July-2025 (Economics) Code-B

(15)




Questions

Money demand in Keynesiaﬁ theory depends on
(1) Income end interest rate

(2) Price and interest rate

3) AExchange rate and import

(4) Exchange rate and interest rate

m%mﬁgw&mﬁﬁx%
 (1) 9 T AW T W

@) W@Eﬂﬁra‘{w

‘ (3)_ ﬁmuﬂqa‘émﬁaf{qr

_(4) ﬁmﬁ@waw

'\

Wil - ¥ 4"‘»2,‘-"\ 2k

| In Flshers Quantlty theory of money, the price level 1s

APIOPOI'MOnal tolwwjﬂ_ Feis i
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" 41. | Slowdown in India will occur when

1@ & gfs T e § g T A TR R § g & F A

(1) Growth rate of GDP declines but it is more than zero for two

consecutive Quarters
(2) Growth rate of GDP declines but it is less than zero for two

consecutive Quarters
(8) Growth rate of GDP becomes equal to zero

(4) Growth rate becomes negative for two days

aRa § Sfeaen @ 9 A 99 el I
@O F G g R T ¥ WY T A TR R § g § s ol ©

LZe e
@) & & e W g $ IO & I B
@) T WA R B R RO A R

42,

| ¥ s wx A Rl

One of the following items should be included by India in its GDP
(1) Sale of second hand scooter |

(2) Rent eérned by India property owner in Moscow

(3) Remittance received by Indian worker in Canada

(4) Value of motor cycle produc_:qd by German company in Bihar

R & & Rt o 1t o &) & F e R o e
Al

(@) T & G ARG AR 3 i R
(3) G FD BT FA H A
(4) P e Er e ¥ Swfed AT WER A I

G-EE-July-2025 (Economics) Code-B° -
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43. | When growth rate of GDP at nominal price is 6% and at its real growth
rate is 10%, what is inflation rate (Using GDP deflator method)?
1) 4% (2) 5%
(3) — 4% 4) 16%
mwwwsﬁamqﬁ;aﬁ%%amwﬁ%qﬁ&ﬂm%% a
T T o€ 7 ¥ (S R R @ ST &)
1) 4% @2 5%
@) — 4% @) 16%
44. | When Cash Reserve Ratio (CRR) is reduced, there will be an
immediate effect as
(1) Decrease in money supply
(2) Increase in rate of interest rate
(3) Increase in inflation target
(4) Increase in credit creation by banks’ |
WWWW(CRR)WW% I dchiics® 9 2N:
(1) T gl F FH
1@ =m @A I F I
8) TE i & @ 7 g
@) ¥ T FE # g
45. | Interest rate in Taylor rule is related with %]
|0 Fiscal deficit B ) Primary deficit
(3) Inflation and output gap (4) Budget deficit
o e § o AT R
(1) T T @ e
(3) 1 G T A S (4) T e
PG-EE-July-2025 (Economics) CodeB.
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~Questions

46.

Cost-push inflation is caused by rise in

(1) Profit (2) Cost
(3) Revenue 4) Income
ARTT-IRT T T Fhed gRg & HIRT el &

(1) o™ (2)_ ART

(3) <&M 4) 99

47.

| higher?

In which phase of the business cycle, the cyclical unemployment will be

(1) Boom : 5 SO (2) Expansion
(3) Peak® sesibit "~ (4) Recession
AR < 1 e e F, T AT St B
) W o) R

s ey ]
345 { g

48.

‘| When actual unemployment rate becomes more than natural rate, it is

o s S
(3) Full employment

A o e A e A it

called ”»ﬂwﬁl |
(1) Slowdown . (2 Boom

aa F i ﬁ R a a S | ali
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AI:;: What do you mean by current account surplus in the economy ? 5N20: The t]

(1) Import becomes more than export 1 T

(2) Country is net borrower from abroad @ T

(3) Country is net lender to the rest of world @) T

(4) Exchange rate depreciates 4 M

Sreferen & = E SR § F S L I
(1)%&%@&1%&%@3@% 1)

@ 2w, fRA F g SuRHA e @ @ T

@) 3, A R A g FORE A (3) T

(4) faFFE & P STET o @ 4) ME

50. | When India experiences capital inflows, the Indian currency will 53. | Value o

(1) Depreciate (2) Appreciate is

(83) Unchanged (4) Inconvertible (1) Uni

7 R G5 T SRR B &, T ARG B YA g H: (3) Infi

Q) ST @ afs e PI-STTE

(3) SmRaR & (4) oRac 2n O

51. The proportion of populatlon engaged in workmg activity together with , (3) HA
unemployed people, is called 54. Find the ;
(1) Unemployed labour force (2) Labour force (1) Price
3) Wopk participation rate - | (4) Gini coefficient (3) Incon
Wﬁ@‘ﬁ%mmmﬁmﬁaﬁmqﬂwm% ﬁqﬁ{@ai
(1) AT 5 A BRCRELE W @
(3) M ST & @ P itk @ @ nﬁ
PG-EE-July-2025 (Economlcs) Code-B 4 PR Bk P G‘EEJUIY-2025
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52.

The third state of production begins when
(1) Total production starts falling but MP is positive

(2) TP starts falling and MP <0

(3) TP is highest but MP <0

(4) MP starts falling

IR @ A e gE el & I

¢)) @HWW@W@G@W%W@@W@W%
(2) N SURA FA &1 g &l & qu MP <0

(3) T S i B & g MP <0

(4) MP %H BN g& &l &

63.

alue of constant returns to scale in Cobb—Douglas production function

18
(1) Unity @) ‘Zero
(3) Infinity - (4) Equal to APC,

m@mwwﬁm%wmﬂmm%

(1) T P T i @
(3) o @ T&@ @ (APC) T T

64.

ﬁqﬁi@aﬁwaﬂmﬂma&m ;
(1) @ﬁwaﬁrw ! --(2) TH U B AT
& wawmAamE @ T T

Find the macroeconomic v_ariable among followings
(2 Demand of a pen-

(1) Price of a pen
(4 National income

(3) Income of a professor

PG-EE-J uly—2025 (Economcs) Code-B

(21) §i
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55. Gross Domestic Product measures

(1) Government expenditure

(2) Consumption

(3) Total value of financial assets

(4) Total value of goods and services produced in a country
TN Y SR A &

(1) TR F A9

(2) ST .

@) i aiE=REr & g7 99

(4) T 39 B X IAea TN TEGEAT T FARA BN HI A

56.

What is unemployment rate?

(1) Workforce divided by total population

(2) Unemployed number divided by workforce

(3) Unemployed number divided by total population
(4) Dividend population divided by workforce
AT & H 8P

1) @Wﬁmﬁﬂmﬁa
@) Faw ¥ fawiow ST @ Hemn

| @) o e & P e e

4) Foed @ i A S

PG-EE-July-2025 (Economics) Code-B
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Phillips curve shows the relationship between

(1) Inflation and employment
(2) Inflation and unemployment

(3) Interest rate and investment

(4) GDP and government expenditure
Reforq a6 3% 9EH T S &

(1) T&T Wify @ QIR

(2) H&T Wil T& ST

(3) &IV W U@ fHaq

(4) Sit & 9 09 WK H A

When marginal propensity to save is 0.25, what will be Keynesian

multiplier?
(1) 4 ()5

@) 2 ’ @ 8
mﬁaaﬁmmozﬁmﬂwwm
@ 5
4 8

(1) 4
3 2

Increase in money supply in the long leads as
Higher interest rate

(1) Higher inflation 2)
(3) Credit control (4) Risein tax

ﬂmﬁgmﬂriﬁﬁqﬁﬁ{ﬂaﬂ'{%m%
1) SR FF®Q@ S IS

(3) W fE=eT @ AT

PG-EE-July-2025 (Ecoxiomicé) Code-B
(23)
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Rece_ssion is deﬁned as
(1) Growth rate of GDP declines

consecutive quarters
(2) Growth rate of GDP declines but it ‘is
consecutive Quarters '
A' (8) Growth rate of GDP becomes equal to zero
& (4) Growth rate becomes nggative‘fbr two days
o @t o &
[H) wamaq&am%mq@ammﬁs@amw

but it is more than zero for two

less than zero for two
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Monetary policy will be more effective in IS-LM model when the LM is

(1) Vertical (2) Downward sloping

(3) Horizontal (4) Steeper

IS-LM #feq & A Ay q ol o &rft 5@ LM 8rft &

(1) T=aq @ AR # IR e A

(3) &t | @) e s

Long Run Aggregate Supply (LRAS) curve will shift to left side when
(1) Human capital increases

(2) Infrastructure investment rises

(3) Labour productivity increases

(4) Capital stock destroys

SEe G99 9 (LRAS) % SRt &R i%mzs ST S

(1) A GO gt & 2) TN GEAFE RS gedr @
(3) 99 JEEHM qedl & (@ T ®E T A A8
Under variable exchange rate system, the expansionary monetary
policy will lead to ’ :

(1) Capital outflow.

(2) Currency depreciation

(3) Rise in investment
(4) Capital outflow, currency depreciation and rise in investment

el Rfa & Sl &, mmmmaam
(1) Gt @ et :

(2) &1 N AALIAT

@ fRaFghs

@) 9oit AT, @Wwﬁ%ﬂﬁgﬁ

PG-EE-July-2025 (Economics) Code-B
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65. | On the basis of Mundell-Fleming model and perfect cap

what would you like to suggest
(1) Monetary policy is more effective than fiscal policy when there is

ital mobility,

fixed exchange rate
(2) Fiscal policy is more effective than monetary in fixed exchange rate

(3) Monetary policy is effective in fixed exchange rate
(4) Fiscal policy is ineffective in fixed exchange rate

@aﬁmmmﬁﬂmﬂw%aﬂmw g M GAE &

TH= HI?

@) mmaaﬁwmmﬁmﬁmmmm
ame

@) Rex R o 3 Afs @ ofe TEy AR ot swaw 8§

@) Rex RfFE & § A A o ad '

(4) fer R & & o A o A ®

66. | What is the prm;aryfunctlon of IMF?

(1) Long term loan for ipﬁ'gstmcture '

(2) Promote free trade

(3) Exchange rate stal and short term balance of payment

lw




Questions

What is the primary function of WT'O?
(1) Money lending to member nations
(2) Military support to member nations

(3) Free and fair trade among member nations

(4) Regulate labour standards
g=g & ol 1 A w7

(1) T 9 F g7 I a0
(2) TS 29 B 9 GEEd
(3) TS I B 9 Wa= aul (1598 AR

(4) o9 AR B A

In floating exchange rate regime, the depreciation of domestic currency

leads to

(1) Increase import and reduce export
(2) Leaves trade balance unchanged
(3) Increase export and reduce import

(4) Changes interest rate

mﬁmﬂﬂmﬁ,ﬁqgm%'ma:
(1) o ¥ ghs qor Fard & F e &

(2) PR g Srafafid e &

(3) forafr & gfs qu o & @ Al §

(4) = X gRafhd et @

PG-EE-July-2025 (Economics) Code-B
e (27)




- 69.

| effective when
| (@) Sum total of export and import elastl

| @) Export is equal to import

-W—Wﬁmﬁ%%gmmmmwﬁ@mm

_(2) Wwﬁqh;ﬁ@a@fﬁamwﬁma

b ‘ one
(1) Sum total of elasticity of import and export is more than

icity is less than one

(3) Sum total of export and import elasticity is equal to one

@ -mﬁwmhaﬁ@a@ﬁam@%ama

T e iﬁeﬂa Eg,ar PR O & T ?r

‘‘‘‘‘

e
‘ A0 VWA
’ i g Sy
¥ ‘> .‘ ¥ '..

' est ghare in IndJa GDP?
k- @) - Industry
§
aaT %?

er tlon leads to
b money supply
‘ ’:éxcbange reserve
R

SET-X
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Question Questions
No. "
Marshall-Learner condition states that currency deprec1 ion is|

-
,"*

Ay
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q2. _

o I

(1) Rightward shift of IS curve

(2) Leftward shift of IS Curve

3) Leftward shift of LM curve

(4) Rightward shift of LM curve

IS-LM Htew ¥ dgerent A AR & 5o & §
(1) 1S T 7 aee o R -
@ IS 3% T T % R

A contractionary monetary policy in IS-LM model leads to .

73.

| money is a function

In Friedman’s n&’&&,

e,

(1) Income i

v of money, the demand for
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74.

'(1) Interest rate rises and people want to hold cash

o
L1qu1d1ty trap occurs when

(2) Interest rate becomes very low and people want to hold cash
(3) Interest rate rises a level where people want to buy bonds

(4) Central bank prints excess money

AT S| a9 eIl & 99 ¢

[ @) = R Tod & qon A T T e ¥

(2) &I T Iga FH A T ¥ AR A T T e

|8 =N & 39 &R a% Tod ¥ T T Sogd ElE =@ed €
@ P SRR AT B 3 '

3 When reserve ration falls, the money multiplier will

(2) Decrease
(4) Become zero

9 af
I B TR

k adjusts interest rate based on
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77. | What was India’s real GDP growth rate in financial year 2024-2025?
(1) 5.5% 2 6.5%
3) 48% ‘ @) 17.0%
Rt a¥ 2024 — 25 & WK @ adE e afs o A
1) 5.5% (2) 6.5%
3) 4.8% 4 17.0%
78f The great divide year of Indian demography history is

(1) 2011-2021

@ 1911-1921

@ 1757-1857 .~ . (4 -1991-2001

»thﬁﬁam%mhwaé%

(2 1911-1921
- 1991-2001

nt India became negative in
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80. | According to Reuters poll, Forecasted India’s GDP growth rate for
2025-2026 is
1) 6.4% . @ 6.5%
3) 7.4% @) 17.3%
e % T $ S, A A A g A 2020 26 & R &
1 STgHA e
1) 6.4% | . @ 6.5%
(3) il 4% (4) : 3%
Unit elastic

81,

| 5% sk , )T

When 3% change in the quantity demand occurred with
supply curve, how much price will change? :

@ 3% " @ 2%
wﬁ@wgﬁaﬁwmwwﬁms%qﬁadﬂam% a d J

@) 7%
2%

HIe[chd
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83.

(¥R 3 Rer sRiw R F-STE IO Bo §, 9@ 5 H ReT TEd g

In a Cobb-Douglas production function with constant return to scale,

when capital is increased by 5% but labour is constant, the output will

(1) Remain constant (2) Increase more than 5%

(3) Increase equal to 5% (4) Increase less than 5%

Tt 7 5% @t gis # AR &, @ S

(1) R @ ) 5%39 ftF T

(3) 5% B SET T (4) 5% q FA T

84.

A demand curve faced by a monopolist is p = 250 — Q and the cost

function is C = 100 + 50Q. What will be maximum possible profit

earned by the firm?
(1) 9900 2) 9800

(3) 5500 4) 6782

& T F A @ p =250 - Q 2 g AP B C = 100 + 50Q B
Gt ET Rt ST G T T Er?

(1) 9900 | (2) 9800

(3) 5500 4) 6782

PG-EE-July-2025 (Economics) Code-B
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85. | The industry supply and demand functions are Qs = 500P - 250 .

250 ang
Qa = 4000 — 400P. What proportion of the benefit of the subsidy vy

be passed to consumer when the government gives subsidy of 0.5 per

unit?
Blsbon. ‘ @ 56%
|® 6'7% S @)  68%

@n%gﬁmeQs-soop 250 T Qa = 4000 — 400P ¥

m%mﬁmwmﬂ%@?ﬂquﬁm05ﬁ

:..—m

Mﬁ%ll.

(2) 56%
(4 68%
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87. | The marginal utilities of goods A and B are 600 and 900 and price of
good B is Rs. 120. Find the price of good A if the consumer is in
equilibrium. |
(1) 50 : (2 60
(3) 80 4) 90
a’«jAﬁWBaﬁWmﬁﬁmmowgoo%waﬁgBaﬁm
5. 120%|qﬁwﬁwe§aﬁﬁ%éﬁAa§aﬁaﬁwaﬁW|
(1) 50 (2 60
(3 80 4 90
88. [ What will be Learner’'s measure for a monopolist whose marginal cost
| is zero?
1) 2 2 4
3 5 @ 1
@@mmﬂ%ﬁwww%%maﬁrwmwm?
@ 2 " @ 4
@ 5 | @ 15>
89. | Wh1ch one is unit less measure of dlspersmn‘?
(1) Standard dev1at10n (20 Mean Deviation
(3) Coefficient of \;'ariation (4) Range
SafeReT T 3R R A9 aﬁw @y
(1)mﬁaa=r St @ e faee
@ PEe TR () P

PG-EE-J uly-2025 (Economxcs) Code—B
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e ' . : T A e
' i dinary six faced dj
90. | Probability of throwing an even number with an or ce

(4) 'f1/‘5 AN | ,

(1) 1

.d’{ =

odel emphasizes on
¥ C % L
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92. |In the Solow growth model, per capita output growth in the long run
depends on
(1) Capital accumulation
(2) Population growth
(3) Technological progress and capital labour ratio
(4) labour supply '
S 3 R Ateq §, Sd-ri SR AR S gRe &t PR B
(1) eIt §9g W
(2) SHEEA giE W |
3) TEIE SR G Gl M SRR W
@) = MY W
93. | A.K. Model shows that growth can be continued in the long run without
(1) Technological progress (2) Population growth
(3) Government intervention (4) Human capital accumulation
w3, teq caler & Pr A o e P 3 R o & e &
Q) TR TR (2) e I
| @) @@ ew@ . @ e
94. | Capital accumulation under Golden rule of Solow’s Growth Model
| maximises ' R
1) Consumption per worker e (2) | Revenue per person
| (8) Wages per worker Ganie (4) Interest rate
m%mm%ww%m@wmmm%:
(1) S S ST @ =R o
(3) oy AFE I @ WX

PG-EE-July-2025 (Economics) Code-B |
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95. | Kaldor facts primarily describes about

(1) Long run economic growth regdaﬁties
(2) Short run economic growth

'(3). Trade cycle

(4) Demand side fluctuation

e & it 3 e Y A T R

[ ) eert onfis gie Frafieerel 31




Questxons

Kaldor facts primarily describes about
(1) Long run economic growth regularities

() ’ Short run economic growth
() Trade cycle

(49) Demand side fluctuation
W%ﬁeﬁrﬁngmaa?h%:
| i st o Prbre @
@) TN g a'T %

(3) AR 5

""'»(4) qmq&r%a?q'laaww
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— 97. | “Knife edge” problem is associated with
(1) Solow model (2) Harrod-Domar model
(3) A.K. Model | (4) Ramsey model
“Ief, H X" THE TR 8
(1) 9 AT & @ Rre-SmT A A
(3) TE. W= A (4) TR e A
98. | Who formula'!;ed first time the theory of comparative advantage?
.| (@) Paul Krugman 2 David Ricardo |
(3) Hecksher % (4) - Singer
TS T Bl R Fe et ST R?
@ Wwgh @ i
3) TR e @ fr
99. | According to Heckscher-Ohlm (H 0) theory, a country will export goods
that use : ' |
(1) Imported technology . (2) Own technology
(3) Abundant factor intefnsit‘j" (4) Comparative advantages
| Sarc-siteRer (OB R & ST, @ 3 el @ Frafa F1w A s
@ R TS @ WA
(G) TR AT (@) g A
PG-EE.July-2025 (Economlcs) Code-BA Canioting:
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: i -
Which theory is contradicted with Leontief Paradox!

(1) Adam Smith

2) ‘Ricardo
(3) H-O theory
(4) Product life cycle theory
| «'ﬁﬂ | Rlaﬁr ferli= e g & ¥
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Question Questions
No.
1. When Central Government increases its expenditure, what will be its

effect in IS-LM model

(1) IS curve will shift left ward
(2) LM curve will shift right‘ ward
(3) IS curve will shift right ward
(4) Both IS and LM shift left ward )
S BRI WHR A T F gy w8, @ 3@ IS-LM dfeq 9T F41 99@
B

(1) IS &% Sid A R

(2) LM &% @i oY Rgem

(3) ‘IS T T AR RgwaT

@) IS @ LM a6 Hf & aiff R Regwenil

| (4) Steeper

Monetary policy ‘will be more effective in IS-LM m&lel when the LM is

(1) Vertical
(2) Downward sloping
(3) Horizontal

IS-LM #feq & AR i q9 Al gl eFf 59 LM 2t @
(1) &aq

(2) ¥ % SR 3 awh

(3) &feet ’

(4) o1 T

PG-EE-July-2025 (Economics) Code-C
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Qn;s:m Questions
3. |Long Run Aggregate Supply (LRAS) curve will shift to Jeft side when

(1) Human capital increases

(2) Infrastructure investment rises

(8) Labour productivity increases

(4) Capital stock destroys
ﬂéa?ﬁﬁﬂwgﬁ(LRAS)amwaﬂrwmm
(1) "M ot et @

(2) YW TEAFE A sear &

(3) =¥ I SGal o

() Yo R T & AR 8

Under variable exchange rate system, the expansionary monetary

policy will lead to
| @) Capital outflow

(2) Currency depreciation

(3) Rise in investment

(4) Capital outflow, currency depreciation and rise in investment

R R & some ¥, Rk A A §
(1) tpﬂzsra%v‘m
2) 'gzrasrarqgm

@) fag # 3fs
(4) o A, R S e FrR & gk

,G-EE-July-2025 (EconomlcS)

N
.;‘:*&.

Code-C
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No.
5. On the basis of Mundell-Fleming model and perfect capital mobility,

what would you like to suggest
(1) Monetary policy is more effective than fiscal policy when there is

fixed exchange rate =~
(2) Fiscal policy is more effective than monetary in fixed exchange rate

/ (3) Monetary policy is effective in fixed exchange rate
(4) Fiscal policy is ineffective in fixed exchange rate

YST-TfT Aled qo1 Yo &l eriasiaar & STER WX, 9 F1 gHE oAl
TH< HAT? .

(1) ReR BfFE o 39 9T WO AR @ ot B AR o sEa
2 Rex R X & A 2 oner ToEE AT ot TwEE S §
(3) Rex fafvma < & AT Ay oot Bt 2 '

(4) Rex R & § TSN A Sl S §

6. What is the primary function of IMF?
(1) Long term loan for infrastructure

(2) Promote free trade
(3) Exchange rate stability and short term balance of payment

support .
(4) Regulate oil price.
T 7.0, % yrefd F w87

(1) oErg e @ R R o
(2) @a= ANR & g AN
@) Rfmg a7 fywar qur S I Sgee S

(4) & P PpHar o FEET

Code-C
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Questions

What is the primary function of WTI'0?
(1) Money lending to member nations
(2) Military support to member nations '

(8) Free and fair trade among member nations
(4) Regulate labour standards
Y A N F e el qar R7

(1) T W B o IYR

(2) TEH W H ¥ e

(3) T I & WA W qu e AR
(4) o9 9D B

In floating exchange rate regime, the depfeciation of domestic currency
ieads to

(1) Increase import and reduce export

(2) Leaves trade balance unchanged

(3) Increase export and reduce import

(4) Changes interest rate

et R X e 7, g W S Fage &
1) o ¥ gfe aur frafd § 9 e B

(2) R e orRafia Tedl 8

@) frafa # gia Tar o ¥ F4 a8

(4) =t & qRaf o ¥

" | RG-EE-July-2025 (Economics) Code-C

l%’l" ‘s’i.

(4)
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Marshall-Learner condition states that currency depreciation is
effective when

(1) Sum total of elasticity of import and export is more than one
(2) Sum total of export and import elasticity is less than one

(3) Sum total of export and import elasticity is equal to one

(4) Export is equal to import

ARG 9 Feh § R g @ ot @@ g 8 o

(1) mw T et it d g B @ @ ot @

(2) W T fEia H A ga e @ A #9 A

®3) mawﬁahaﬁ@a@ﬁam@%w@

@) o) smEE sTER &

10.

Which sector contributes highest share in India GDP?
(1) Agriculture (2) Industry
(38) Service (4) Mining

P T & ARG B M § waiftes e 2 27

1 F @ &

(3) dar A 4 @

bz

The proportion of population engaged in working activity together with
unemployed people, is called

(1) Unemployed labour force (2) Labour force

(3) Work participation rate (4) Gini coefficient

SO ST % 1 GipY &Y § B § T STEE B ST Hewl &
(1) FWTIT 5 e @) o AR

(3) #m AT & @) -

-_’:PG-EE-July-2025 (Economlcs) Code-C
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12. | The third state of production begins when

(1) Total production starts falling but MP is positive
(2) TP starts falling and MP < 0

(8) TP is highest but MP <0

(4) MP starts falling -

ST B A TR g6 ot & o

(D B ST 4 A g& o ¥ arg O & e o &
(2) T SR Y & g SN & qE MP <0

(8) T IR AFHH BT 8 TR MP <0

(4 MP 7 8 g& o @ |

13. | Value of constant returns to scale in Cobb—Douglas production function
= ,
(1) Unity (2) Zero
(3) Infinity | (4) Equal to APC
FE-2Td SAGRT B A TN & ReX ufowe & 9 dar ®
(1) FE B T b, @ ™
3) 4 TU | APC) & WY
14. | Find the macroeconomic variable among followings
(1) Price of a pen (2) Demand of a pen
(3) Income of a professor (4) National income
Frfeid & s onfdies =X e SR |
| ) T ¥ B w @ @A

@) T AGW A o @ Tmam
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15. Gross Domestic Product measures

(1) Government expenditure

(2) Consumption

(3) Total value of financial assets

(4) Total value of goods and se;'vices produced in a country
SESIEEG WEi Gl i

(1) &R & Y

(2) ST

3) fxig WReREl #1 F7 99

(4) TF 3T D AR SR w0 qegell qun densit w1 B AW

16.

What is unemployment rate?

(1) Workforce divided by total pépulatjon

(2) Unemployed number divided by workforce

3) 'Unemployed number divided by total population
(4) Dividend population divided by w.orkforce
ST aT 7T R? |

(1) F e & R FrEe

2) Frded & e FASTIRE S Her

(8) % SEEAr § R ais e

| (@) Frieq & Gl amis sHee

| PG-EEJuly-2025 (Economics) Code-C
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17. | Phillips curve shows the relationship between

(1) Inflation and employment

(2) Inflation and unemployment
(8) Interest rate and investment
(4) GDP and government expenditure

RefT % &7 Wy ey i B
(1) T @Y @& eI

(2) T WY @ Rormd

(8) N W qq Ry

@ it & @ & IR H
18. | When marginal propensity to save is 0.25, what will be Keynesian

multiplier?
(1): 4 @ 5
3) 2 4 8
ST T HI G &HA 0.25 8, @i # 16 HT B
Q) 4 ' v (2)ars
3 2 4 8

19. |Increase in money supply in the long leads as
(1) Higher inflation (2) Higher interest rate
(38) Credit control (4) Rise in tax
(1) St a1 whife @) SN I
3) a@ = @ 7T gy

PG-EE-July-2025 (Economics) Code-C
(8)
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20.

Recession is defined as

(1) Growth rate of GDP declines but it is more than zero for two
consecutive quarters |

(2) Growth rate of GDP declines but it is less than zero for two
consecutive Quarters

(3) Growth rate of GDP becomes equal to zero

(4) Growth rate becomes negative for two days

(1) St & G A R W g ¥ g T A AR fmedt § g & o e
3

@ F & qH P w e ¥ Wy % A TR RERA T g @ B A

@ NANAPREIRRATIE

@ 3 | ARA 3 A oo & o B

21.

When 3% change in the quantity demand occurred with Unit elastic
supply curve, how much price will change?

1) 5% 2 7%

3 3% 4 2%
mmgﬁwwwﬁnﬁTwﬁma%qﬁaﬁsﬁm% @ B J

ﬁﬁmqﬁaﬂwm?

| (1) 5% @ 7%

3) 3% S @) 2%

PG-EE-July-2025 (Economics) Code-C

9)




T R R e s e

SET-X

Code-C
e

Question
No

Questions /ﬁ

22.

MAXIMIN strategy in the game theory refers to
(1) Maximising the pay off

(2) Minimising the maximum return

(3) Minimising the minimum pay off

(4) Maximising the losses

& R ¥ SRR R @ o B

(1) I (I-3T%) H ARHTH B

(2) e Hfdwd @ A HC

(38) AGH AN i AfBH BT
@) TR I SR, B :

23.

In a Cobb-Douglas production function with constant return to scale,
when capital is increased by 5% but labour is constant, the output will
(1) Remain constant (2) Increase more than 5%

(3) Increase equal to 5% (4) Increase less than 5%

oy  feee SR A HA-STE T G A, T A A R T g

& & 5% @ gfe @ o 8 A I
1) fax @ (2) 6% ¥ 3 e

@) 5% % aTET 4 5% FW 3T

PG-EE-July-2025 (Economics)

Code-C
(10)
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| { ' 24. | A demand curve faced by a monopolist is p = 250 — Q and the cost
function is C = 100 + 50Q. What will be maximum possible profit
earned by the firm?
(1) 9900 (2) 9800
(3) 5500 (4) 6782
T THIABI HT AT 9% p = 250 — Q ¥ TN @M Feel C = 100 + 500 2|
BH R St St R @ e
(1) 9900 . @ 9800
3) 5500 @ 682
25. The industry supply and demand functions are Qs = 500P - 250 and

Qa = 4000 — 400P. What proportion of the benefit of the subsidy will

be passed to consumer when the government gives subsidy of 0.5 per |

unit?
(1) 55% , @) 56%
(3) 67% | ; (4 68%

B@‘T%@WWWAQ3=SPOOP-ZSO T Qa = 4000 — 400P T
qfeadl & @ 1 PR STgU SUNIRT T UER S HEHR A EE 0.5 %

afeqel 2t B 1
(1) 55% ' (2) b56%
(3) 67% (4 68%

GTEE-July-2025 (Economics)

Code-C
(11)




SET-X

— Code-C

No. Questions

26. |Find the number of Labour after which marginal production becomes
negative for a firm having production TP =10 L —L* ?
(1) 4 @) b5
@) 6 4) 8
@ % D R R SR TPL=10L - 12 ¥ 59 @ 78 den A A
e geeEq W # W RO ) S e
D) e @ 5
@) 6 @ 8

4 The marginal utilities of goods A and B are 600 and 900 and price of
good B is Rs. 120. Find the price of good A if the consumer is in
equilibrium. ‘ '
(1) 50 @) 60
(3 80 @ 90
a@AamBa%Waq@rﬁmeooaamoo%waﬁBaﬁm
= 120 ¥ af ST e ¥ ¥ A A 9Eg B BT A@ AT |
(1) 50 (2) 60
(3) 80 (4), 290

28. | What will be Learner’s measure for a monaopolist whose marginal cost
is zero? .
(D2 (2) 4
@3 b5 @ 1
e T B WA A 9 ¢ d R SR A R e e
(1) 2 2 4
(3) b (e

PG-EE-July-2025 (Economics) Code-C
(12)
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Which one is unit less measure of dispersion?
(1) Standard deviation ‘ (2) Mean Deviation
(8) Coefficient of variation (4) Range

AR 1 3 W " B @ 27
(1) Y9 foaes 2 T e
3 R ot (4 fmrR

Probability of throwing an even number with an ordinary six faced dice i
18 : '

1 1 2 1/3

3) 1/2 4 1/5

T WERYT B: Tl I $H O o9 e oW & i ©
(il | @ 13

3) 1/2 | - 4) 1/5

i Stolper-Samuelson theory suggests that trade liberalisation

(1) Harms all factors of production
(2) Benefits labour and capital _
(3) Benefits abundant factor of production

(4) Benefits scarce factor of production
RIAR-SRguee e & g @ B aur e -
(1) G & af A @ qge

(2) 9 ud gol T qgew 8

(3) TR & FYT WA H AW GEe @

. @Nwﬁﬁwﬁﬂm@m%

L PG-EE—July'-2025 (Economics) Code-C
o (13)
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32.

The “terms of trade” refers to

(1)  The rate at which one country’s good i8 exchanged with anv
(2) Ratio of exports to imports in quantity

(3) Price level differences

(4) Exchange rate ratio

‘TR B 7 ¥ o ¥
(1) 7€ T P T @ 29 gE @ TRl @ AR B 8
2 faft & St &1 AR STud |

(3) @ @l F

(4)ﬁﬁwaraq3ma

1
taer

33.

In Ricardian model, the international trade is caused by
(1) Differences in labour productivity

(2) Differences in exchange rate

(3) Differences in capital stock

4) Preferences

Rt @ died # SIS AR & A FROT B :

(1) 99 SR H ST

@) ffma @ d O

@) oot ©ie H T

(4) oA

PG-EE-July-2025 (Economics) Code-C
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34.

Who has developed “product life cycle theory” of international trade?
(1) Raymond Vernon

(2) Adam Smith

(8) Ricardo

{4 Ohlin

WW%WWWW”%WWM?
1) e T |

(2) T=H Ry

(3) Rt

(4) el

35.

Bilateral trﬁde flows, under gravity model, are directly related to
(1) Exchange 1;ate

(2) folitiéal alliance

(3) Comb;.ratiye advantage

(4) Size of economies and distance

oA Afed T, BT R yaE & dr e
(1) fafa zT @

@) THRE

(3) gerHd o

| @ st & o T g0

uly-2025 (Economics) Code-C
o ’ (16)
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36.

In Constrained optimization, the Lagrangian function is used to

(1) Transform constrained problem into unconstrained one

(2) Transform revenue into expenditure

(8) Solve unconstrained problems

(4) Solve inequality

T STgRe F, QIR T AT B ST T PR B
(1) 1T &9 i ERRG § Ra

(2) oM H FY F FEEET

(8) amHT XRT THET B A HEA

(4) STEAFCT BT TN B

37.

For what purpose the Hexian Matrix is used?

|1 (1) To determine utility

(2) First order condition

(8) To determine concavity or convexity of a function

(4) To get slope of budget line
Rrg BT A BRrE Afgwd & N 8 87

(1) YA & FEReT S

(2) 599 F9 % W
(3) T GRT I Sl AT S P iR

(4) e @ % @l Bl Il BT

PG-EE-July-2025 (Economics) Code-C
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What will be marginal rate of substitution of utility function U (X,Y) =
D ol

—

@ anb | @ xiy
(3) ay/bx (4) ax/by
ST Hi U (X, Y) = X YP %} SRt 2 @ & a1 ani?
(1) ah (2 xly
\ (3) ay/bx (4) ax/by
39. |Saddle pointin a Pay off matrix in game theory implies
(1) General equilibrium (2) Nash equilibrium
(38) Maximin (4) Minimax
o e 7 ¥ oie Mg F e @r= @ oo §
(1) T A | @ N wge
(3) AR (@9 P
40. | A quasi concave utility fuﬁctign implies

(1) Convex indifference curve
(2) Concave indifference curve
(3) Linear demand curve

(4) Decreasing returns to scale

% S S SUAIRr G & SRmE R
(1) I qeedd b |
(2) Sfgqd e 9

(8) @™ HrT 7%

() T g b @ o

G-EE-July-2025 (Economics) Code-C
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41. | Selling government security in Open market operation leads to

(1) Decrease in money supply
(2) Increase in money supply

(8) Rise in inflation

(4) Rise in foreign exchange reserve

QA IR et § wwr it & Rewa @ o9 ¥
1) & R O F = | @ @ g g }
3) g 7 gia @) fR ffF B 7 g i

42, A contractionary monetary policy in IS-LM model leads to
(1) Rightward shift of IS curve

(2) Leftward shift of IS Curve

i (3) Leftward shift of LM curve

(4) Rightward shift of LM curve

1
\
\
\
1S-LM dfeq & dgererd e M T S € ‘
(1) IS % I alfeett Y e
(2) 1S % % a3 few
| @) LM a% %I arit ot Rewend ' i
4) LM a% % & o fewem |

PG-EE-July-2025 (Economics) ('Z‘;)g)e-c
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 43. |In Friedman’s modern Quantity theory of money, the demand for

money is a function of

(1) Income

(2) Asset

(3) Interest rate

(4) Permanent income and return on assets

BISH & 1 & oMy e §, ga B A o G §
1) 1 F: '

(2) GREHRT H

3) &S W&

@ WA 9 @ IREERE W S &

Liquidity trap occurs when
(1) Inteérest rate rises and people want to hold cash

(2) Interest rate becomes very low and people want to hold cash

(3) Interest rate rises a level where people want to buy bonds ‘

(4) Central bank prints excess money

TN A Bl & o

(1) =7 3T TG ¢ a1 QT TRl T e §

(2) = T qgd FA B S 8 SR T bl TE e

| (3) =T aT I\ W % TG ¢ el A AUgH EE e ¥

(4) %+m % srfafa gar B

PG-EE-July-2025 (Economics) Code-C
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45. When reserve ration falls, the money multiplier will
(1) Increase (2) Decrease
(3) No change (4) Become zero
(1) & B ) @H Erl
3) R UREdw T am @) & AT
46. | According to Taylor rule, the central bank adjusts interest rate based
on
(1) Political objective
(2) Inflation
(3) Exchange rate
(4) Output growth and inflation target deviation
W%W%WW%%WHWWWW%
(1) TEFID B
(2) T Tt
(3) fafrma =
) mg@amgmaﬁﬁrwﬁham
47. | What was Ind1a s real GDP growth rate in financial year 2024-2025?

(1) 5.5% (2) 6.5%
3) 4.8% 4 7.0%
Preitg af 2024 — 25 # WA @1 aias SHEd e T @ o
(1) 5.5% 2) 6.6%
(3) 4.8% 4 7.0%

PG-EE-July—2025 (Economics) Code-C

(20)
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The great divide year of Indian demography history is
(1) 2011-2021 (2) 1911-1921
(8) 1757-1857 | : (4) 1991-2001
R ST SRveRT 1 e 9y ®

(1) 2011-2021 (2) 1911-1921

(38) 1757-1857 ; (4) 1991-2001

The GDP growth rate of post independent India became negative in
(1) 2019-2020 (2) 2020-2021

(3) 2021-2022 (4 2014-2015

AT %I Tl 99 e afs ) 39 AR woms o T o
(1) 2019 —2020 ' (2) 2020 — 2021

(3) 2021-2022 ‘ (4) 2014-2015

According to Reuters poll, Forecasted India’s GDI{ growth rate for
2025-2026 is

(1) 6.4% (2 6.5%

@) 7.4% @ 7.3% i}

TAeH % TIET & OTJER, ARG & IS gRE & H 2025 - 26 B R T

™ STHA t:
(1) 6.4% 2 6.5%
(@) 7.4% @ 7.8%

Ps""'l‘."l‘l‘July-2025 (Economics) Code-C
5100 (21)
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51.

Slowdown in India will occur when

1)

)

C)
4)

Growth rate of GDP declines but it is more than zero for two
consecutive Quarters

Growth rate of GDP declines but it is less than zero for two
consecutive Quarters

Growth rate of GDP becomes equal to zero

Growth rate becomes negative for two days

IRA | orfeyaeen it &l iy a9 2t o ¢

(1)

N N B g R T ¥ g 9 A AR R F g A o 8 S

@ & @D afs T e g 7 O e R A g & e

3)
(CY)

L , |
i G R g W I P TR G B
gfe & @ Rl 3 R oo & o ®

Code-C
5

52.

y

One of the following items should be included by India in its GDP

(1)
2
3
4)

Sale of second hand scooter
Rent earned by India property owner in Moscow
Remittance received by Indian worker in Canada

Value of motor cycle produced by German company in Bihar

et 7 @ Rt T &) o & @ 3 Wi R ST ST

1) e Bve TET A
(2) WA % we A & AT § S R

3) arcdg FfiE & FAel § A 6T

(4) ok el @ (e H SR HeT R A g
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53.

When growth rate of GDP at nominal price is 6% and at its real growth
rate is 10%, what is inflation rate (Using GDP deflator method)?

1) 4% @2 5%

@) —4% 4 16%

Y THH P WA G R g 6% § A 3w award g & 10% 2, al
T WG T R (It Rwdex Rt a1 s 533

@ 4% @ 5%

@) -4% @ 16%

54.

When Cash Reserve Ratio (CRR) is reduced, there will be an
immediate effect as

(1) Decrease in money supply
(2) Increase in rate of interest rate
(3) Increase in inflation target

(4) Increase in credit creation by banks

S e SRR STUK (CRR) 9/l ST 2, @rmﬁmmm
(1) a1 omyft &

(2) &I & P A &

(3) T&1 Whfa & wed ¥ IR

@) ¥t 3 Ty fmr & gfe

55.

Interest rate in Taylor rule is related with

(1) Fiscal deficit (2) Primary deficit
(3) Inflation and output gap (4) Budget deficit
e g # &t & @ wE g

(1) TompINIE Hrer - (2) Wi e

(8) AT WY YT JEA A (4) SO Ee

1:'(3.""1!'1E-July-2025 (Economics) Code-C

(23)




Questions

Cost-push inflation is caused by rise in
(2) Cost

(1) Profit
(4) Income

(3) Revenue

IR JT TR Rt afx B o B 2
(2) @

4 oM@

1)

@ W
In which phase of the business cycle, the cyclical unemployment will be

higher?
(1) Boom

(3) Peak ‘
R =5 %l 69 Staer 7, Thig S Siftepas arn:

(1) 3B ' (2 Er
(3) R @ g

When actual unemployment rate becomes more than natural rate. it is

(2) Expansion

4) Recession

called
(1) Slowdown

(3) Full employment
519 redfas SO &Y Mighod & @ o1l & R R, 9% weawr B

(1) 4 nfer (2) 98|
@) o W (4)  HEET

(2) Boom
(4) Recessionary gap

PG-EE-July-2025 (Economics) Code-C
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(1) Import becomes more than export
(2) Country is net borrower from abroad

(3) Country is net lender to the rest of world

(4) Exchange rate depreciates

S ¥ g @ s  F e ¥
(1) i & oen omE ot & om ¥
@ W, fRel § = Sureat e B
(3) 2w, 9% Rva B gw wowwE & B
@) faffmE & F1 e o ?

What do you mean by current account surplus in the economy?

- 4.8%

60. | When India experiences capital iﬁﬂows, the Indian currency will
»(1) Depreciate (2) Appreciate
(3) Unchanged - (4) Inconvertible
e qRd & Yol P SFmATE B €, 9 ARG A T T F:
() Fh af @ R e
(3) emRaf & (4 R B
61. | What was the Consumer Price Index (CPI) inflation of India in May
2022 |
W) 2.8% @ 3.2%
@ 0% 4) -4.8%
|7 2025 W @ o T qEE (CPL) R A7
o 2% @ 8.2%
O 0w 4

;X 025 (Economics) Code-C
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Q‘;fm Quesg)_ris—//,__\
62. |What is the RBI benchmark repo rate as June 20267
1) 6% @) b6.6%
B) 6.3% (4) 6.5%
T 2026 % R oI ot o o e X T 4T B
1) 5% @ 5.5%
3) 6.3% 4) 6.5%
63. | How much did India’s forex reserve is the import cover month in Ma?
2025?
(1) 9 months around 2) 11 months around
{3) 8 months around (4) 6 months around
7 2025 ¥ 9T PR g Wer R AR @ oMW B U B B [
e 27 et T
(1) T 94E : 2) Wil%
@) T 87T @ e 6
64. According to Financial Stability Report 2025 of RBI, the gross non-
performing asset is :
(1) 2.6% @ 1.6%
3) 7.2% 4) 6.3%
o i o @t faa Reer R & orge, 0 r-RoTRar qResa 2
‘ (1) 2.6% | ‘ @ 1.6%
| @ 7.2% 5 4 6.3%

4 PG-EE-July-2025 (Economics) Code-C
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66. | What do you mean by Goldilock situation of an economy?

(1) An economy with moderate, sustainable growth
(2) An economy with high recession

(8) An economy with high inﬂ.ation

(4) An economy with high unempolyment

ToRRTt Srefereeen ot Medielts Rafty & 7 ot 37

(1) #oH @9 g e aw sderaen

(2) I TR aRN SrEEn

(3) = GarEHif R e

(4) I AT ARA Sreforaeen

66. | Who propoﬁnded the theory of maximum social advantages?
(1) Ricardo @ Friedman
(38) Keynes ' (4) Hugh Dalton
e A A & e @ afkus B R0
(1) Rt - @ W
@) @ @ T e

67. | The principle of equity in taxation réﬂécts
(1) Cost of service principle (2) Benefit principle
3) Ability to pay principle (4) Proportional taxation policy
SR 3 G % R R a2
(1) @ar @l AT R 2 ™ R

| @ w ¥ R (4) g HTACT A

>, .' PG-EE-July-2025 (Economics) Code-C

| i

(27)




Questions

68.

What is Laffer curve?

(1) A curve that shapes like laughing monk

(2) Curve showing relationship between income and expenditure

(3) Curve showing inverse relationship between tax rate and revenue
(4) Curve showing direct relation between tax rate and revenue

AH b T 2?

(1) T8 3% P TR g6 gd Ry & TR #r 2 ¥
() 9 T =T F A Ty RO T 9%

@) asamﬁrmaﬁﬂamm%qwﬁcrﬂaaﬁwm%
@ ﬁﬂ%ﬁmaﬁﬂwm%m@ﬂma@ﬂm%

69.

The primary objective of the government budget is to

(1) Increase profit
(2) Increase tax

(3) Increase public welfare

(4) Reduce consumption

TP To1C 1 TP 98 ©
(1) @ 7 g FT
2 FTH gha BT
@) arE weE ¥ aRE w
(4) SYFRT H FH AT
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70.

The term “crowding out effect” in Public finance refers to

(1) Increase government spending and reducing private investment
(2) Increase government borrowing and reducing private savings
(3) Increase government subsidy and increase inflation

(4) Rise in investment and reduce interest rate
BIRIST ST FWE” P G B 3wt § ot
(1) TR 3 &= § gis g feh FEg § a9

(2) THR S %ot & gy qur Freh gect F 0

(3) W wew ¥ gfx @ g R A gf

(@) ey ¥ g qu o X § +9

71.

Harrod-Domar growth modelier'nphasizes on
(1) Human capital |

(2) Natural capital accumulation

(3) Savings and capital output ratio

(4) Labour force growth
e-SY g dfsw fady 9@ @ R ¢

() AMg G s
2) T goft deE W
(3) = 4 Yol S ST W

1@ #m 5w g o

| PG-EE-July-2025 (Economics) Code-C
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72. | In the Solow growth model, per capita output growth in e long run
depends on
(1) Capital accumulation
(2) Population growth
(8) Technological progress and capital labour ratio
(4) labour supply
e & e dea ﬁd—aﬂﬁﬂﬁqﬁfaﬁﬁaﬂmqﬁiﬂﬁﬁféﬁ%t
(1) Yot §=99 ©

(2) HE g\ W
(3) Tl SFIfT T You & ST W
(4) 49 YRt W |

A K. Model shows that growth can be continued in the long run without
(2) 'Population growth
(40 Human capital accumulation

73.
(1) Technological progress

(3) Government intervention

q.%.mmm%mm‘ﬁmmﬁm%mﬁaw%:

(1) @ S Q) SHEE gi&
(3) TN BEEY . @) TNG GO Ee

accumulation under Golden rule of Solow’s Growth Model

74. Capital

maximises ‘
(1) Consumption per worker (2) Revenue per person

(3) Wages per worker (4) Interest rate

m%mmﬁﬁmw%mﬁwmmm%
1) ofr 4fEs ST @) i &R oM -
@) ofy =it AT (49 ¥ &

Code-C
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76. | Kaldor facts primarily describes about

: (1) Long run economic growth regularities

(2) Short run economic growth
(8) Trade cycle

(4) Demand side fluctuation

W%Mﬁﬂgﬁ@ﬁﬂ“ﬁ%r~
(1) e i afs Pt &
(2) OFRUHRIT & W d

(3) FNR T FH

(4) T 9 H IEEET H

76.

Steady state level of capital accumulation in Solow model is achieved

when

(1) Capital per worker is remain constant
(2) Savings per person is constant
(3) Output per worker is maximum

(4) Savings is equal to investment

A Afeq ¥ goft we P RAT ST &’ a9 W< RRA o o
1) ‘qﬁfqﬂﬁf‘iﬂﬁﬂ?ﬁ?ﬁ%

@) wfy @ a=a Ryt T @

@) Ry 4 S siftEH e @

(4) o FRg & aET Bl @

(31)
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7 Knife edge” problem is associated with

Harrod-Domar mod

(1) Solow model 2)
(3) A.K. Model (4) Ramsey model
‘IR W AR TR g
(1) Qe AT | @) Hedm A d
(3) TH. Ufsw A ) Y A @
78. | Who formulated first time the theory of comparative advantage?
(1) Paul Krugman (2) David Ricardo
(3) Hecksher (4) Singer
geTeTs o R gavgw fhae JAR fepar?
1) Uit T | @ 32Ms Rt
@) B 4 R
79. Accordin’g to Heckscher-Ohlin (H-O) theory, a country will export goods
that use 4

(1) Imported technology (2) Own technology

(3) Abundant factor intensity (4) Comparative advantages

WW(O-H)W%W,aswa@aﬁmﬁwmshm

() I B qHED
(4) TSERHS |

PG-EE-July-2025 (Economics) Code-C
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80. | Which theory ig contradicted with Leontief Paradox?
(1) Adam Smith

| (2) Ricardo

3) H-O theory

(4) Product life cycle theory

B 1 R Rl R & @ves e 37
(1) T=A oy

@ Rt

(3) -3l =

(4) IAE ST =W HE

81. | When a new series is connected with the old series, it is known as

(1) Base shifting (2) Backward splicing
(3) Forward splicing (4) Weights
g T g G & 7 A0 i ol R, A 7% e
(1) e N EChE (2) Qe fersTeT
?‘ (3) SprTHr e 4 R
3 82, | Laspeyre’s Index number possess
.| (1) Downward bias (2) Upward bias
] = (3) No bias (4) Both upward and downward

|t % gEes A O @ ‘
Ny %3 & o g @) R A M gaw
(3)%@%;@ | (4) TR H AR @AY B AR A

: ‘;iy—2025 (Economics) (Zog)e-C
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83. | Probability of type-I error is called e T
(1) Size (2) Critical region
(8) Level of significance (4) Blue colour region
TRY-1 IR B TR Feww @
(1) SHR- (@) it
(8) W T @ s T A
84. | The arithmetic and harmonic means of two numbers are 5 and 3.2
respectively, what is geometric mean?
1) 0.8 © 16
(3) 8.2 : 4 4
ﬂmﬁﬂmwmwmﬂ 5 o 3.2 ¥, s e
grm?
(1) 0.8 (2 16
(8) 8.2 4 4
85. | When correlation coefficient r = 0.6, what will be coefficient of
non-determination? | :
(1) 04 (@) ;0,94
(3) 0.36 (4) 0.003
g gegaa s r = 06 3 A feieer o 0 &
1 04 (2) 0.64
(3) 0.36 (4) 0.003 °
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 86.

What i imitati
18 the limitation of product of two regression coefficient?

(1) Zero to infinity (2) Less than zero

(8) More than infinity (4) Less than unity
X SRR R B o @ @ g ¥
1) T8 o= 3 @ WIAF
() o= ¥ it ‘ 4) TPE q T
87. |When Y = 3X + 4 is the regression coefficient of Y on X and
arithmetic mean of Xis — 1, what will be arithmetic mean of Y?
D 1 <3 @ -1
3 3 | (4) by i
w9 Y O X P ST 0% Y = 3X + 4 ¥ @ X H GR TE -1 3,
Y &1 SR A T e
(M) 1 wist i) Tk
% A
88. | The Binomial distribution is symmetric when
1) P=1 2 P=1/3
@) P=1/2 | 4 P=1/5
\. faqe faeer wafta g &, o ok
- @ P=1 | @ P=1/3
N “("3) P=1/2 (@ &=3/5

B i 1y-2025 (Econoxmcs) Code-C
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89. | When mean and mode of a distribution are equal, what will be value of
skewness?
@ 1 (@) .2
8) Zero @ 3
SN O RO & A qor ges @ @), A R dr 9 e
@ 1 (8.2
@ I @) 38
90. | Whenr =0, the Cov(x, y) will be
1 1 | @) Zero
3 3 (4) Infinity
59 r =0, Cov(x, y) &
@ 1 @ =
3) 3 (49 o
91. | Which five year plan emphasized on inclusive growth?
(1) First (2) Tenth
(3) Eleventh (4) Sixteen

B9 € deEe g 3 gHas e OS]

(3) Regulating banks

(4)

% X & U9 gy 2008 @ I8 ©

(1) 9=t 2) &l
(38) warEdf (4) wired
92. |FRBM Act 2003 aims at
(1) Money supply control (2) Food security

Fiscal discipline

1) a1 SgRf ox Fr @) e g
@) ¥t @ Fr (4) USRI ST
| _ SRR
Code-C
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98’

Which sector has the highest unemployment rate in India as per
periodic Labour force survey?

(1) Rural female graduate

(2) Rural male graduate

(3) Urban male graduate

(4) Urban female graduate

ST 5 I I D AR ARG F Brg & F ol a¢ Gl 37

@) T AR Asjee
(2) T 965 dvpue

3) &0 gov Ague
@) &Y AR g

| 94.

India’s external sector is characterized as :

(1) Current account surplus and capital account deficit
(2) Capital account surplus and current account deficit
(3) Fixed exchange regime.

(4) Non-convertibility of rupee on current account

AT % S & Bl e &

(1) =g @rar ok G Gei @ arer

() ot @ St T S e

(3) e R e |

@ g @R A ou @) SR
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95.

Twin balance sheet problem of India is referred to :

(1) Corporate can’t pay and bank faces NPA

(2) Exchange rate and interest rate
(38) Public and private sector

(4) Rich and poor

A A Aeh A e § B

1) mwaﬁmmw%mﬁammw%

@) R T o &I
(3) WSt qur Fel &
(4) ot g P

——4

96.

Goods and Service tax aims to

(1) Unified national market

(2) Increase indirect tax |

3) Reduc; government expenditure
4) Production based tax system
e U@ a1 HT H R &

(1) TG THHE AT

(2) FwEd F I

@) aw@l @a 4 w1

() T e ¢

PG-EE-July-2025 (Economics) Code-C
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Multidimensional poverty in India is measured by NITI Aayog using

(1) Headcount ration (2) Gini coefficient

(3) Import cover 4) .Alkire-Foster Index

WRa ¥ qgomr Ffwar @& W A om g feaer wEm # e
S 87

(1) S9 §& Fgua @ o

(3) ST STER N 4) W—WW

High Powered money (H) is measured by :
(1) Currency in circulation + Vault cast of banks + Banker’s deposit

with RBI
(2) Currency in circulation — Vault cast of banks + Banker’s deposit

with RBI
(3) Currency in circulation + Vault cast of banks — Banker’s deposit

with RBI
4) Curréncy in circulation —Vault cast of banks — Banker’s deposit

with RBI

| = v TaT (H) 1 A oA o @
(1) e # g + S A RN TR+ o R o F S Feg

@ = # g — 9 A R T+ o o A 4 R
(@) o & g + ¥ A RNl T~ o on A ¥ a1 R
@ = & T — 4 B RO T — o o ¥ d
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on
Money demand in Keynesian theory depends

(1) Income and interest rate
(2) Price and interest rate
(3) Exchange rate and import

(4) Exchange rate and interest rate
P9 3 R & gar 4 b el §
(1) ¥ @ o W W/

(2) MG T I W W

(3) ffa W T oEE W W

(4) 9T X @ N7 T W

100. |In Fisher's Quantity theory of money, the price level is directly

proportional to

(1) Money supply (2)  Real output.

(3) Velocity of money | (4) Income
fror & 7a1 & oReTT T H, PP & B Wer o D -
(1) 7&1 % gt @ (2) IR I
1@ 7a1 % = AT 4 @ om

l PG-EE-July-2025 (Economics) (2261)0-0
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1. What was the Consumer Price Index (CPI) inflation of India in May
2025?
(1) 2.8% 2 3.2%
(3) 4.0% @) -48%
| = 2026 % w1 SwsE T gaHis (CPI) Fr a1
1) 2.8% - A @) 3.2% ¥
@) 40% , @ -48%
£2. What is thé RBI benchmark repo rate as June 2025‘7
LD e ), 5%
1@ 6.3% _l,_..if; R T ) 6.5% .
fa) afrzozs%mwﬁaﬁaﬁmﬁﬂw%?

-""-.'(1) 5% iz s R ..-(2). 5.5%
i ,,(3) 63% e ‘ S




~ SET-X
Code-D

Question

Questions

No.

performing asset is :

4. | According to Financial Stability Report 2025 of RBI

'1.6%

(1) 2.6% @)

@) 7.2% 4) 6.3%
maﬁmaﬁﬁ?ﬂﬂmﬁqﬁ%a@m @{ﬂt—ﬁmﬁﬂqﬁwﬁr%:
1) 2.6% @ 1.6%

@) 7.2% cli 4) 6.3%

, the gross non-

5. What do you mean by Goldilpck situation of an economy?

@ Baqﬁﬂaréﬁawﬁmaw
3) aagaraﬁﬁrmaﬁmﬁaaw
@) aaaﬂmlﬁaﬁﬂaéaqaw

(2) An econoniy with high recession
3) An economy with high mﬂatlon
(4) An economy with high unempolyment

m«mﬁﬂm@mmawmw
(1) REm O F R A o

(1) An economy with moderate, sustainable growth

S
@

Y

6. Who prgpopndgd the theory of maximum soclal advantages?

Fnedman
Hugh Dalton
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The principle of equity in taxation reflects

(1) Cost of service principle 2) Beneﬁt principle

(3) Ability to pay principle 4) PrepOrtional taxation policy
FIAT § T & st &1 Rem qaqm@r & ¢

(1) [ B T H RS 2 ™ e

(3) T ¥ & 1 R (4) IrgUic BT ARy

What is Laffer curve‘?

(1) A curve that shapes like laughing monk

2 Curve showirig relationship between income and expenditure

(3) Curve showing inverse relationship between tax rate and revenue

4 Curve showing direct relation between tax rate and revenue
AH I - 87

@) ﬁwmwwﬁg&ﬁg%wwm%

@) . mwm%wwmﬁ@ﬁwam

) asamﬁma%wwm%mﬁwﬁaw-wsﬁm%
@) asamﬁwa%wwm%weﬁmwm%

The primary objective of the government budget is to

(1) Increase profit (2)' Increase tax
-| @ Increase public welfare ~  (4) Reduce consumption
W a9 T ARG R R

(2) & e HEN %
ST # FH AT
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10. | The term “crowding out effect” in Public finance refers to

(1) Increase government spending and reducing private investment

(2) Increase government borrowing and reducing private savings

(3 Increase government subsidy and increase inflation

(@) Rise in investment and reduce interest rate

| ‘AT ST g @ A R & ded & orfe @
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13.

Which sector has the highest unemployment rate in India as per

periodic Labour force survey?

(1) Rural female graduate

(2) Rural male gré.duate

(3) Urban mgle graduaté

4) Urban femalé graduate
me@m%wwﬁmaﬂﬁ%ﬂmum?
(1) I A ang

() mﬂfwﬁw

® g e
(4)213&%%@ ’

3 S R PR . F
Vot s .,‘.a.t‘ i o SRS o R M L
% NP

Ind1a s external sector i




Questions

Twin balance sheet problem of India is referred to :
(1) Corporate can’t pay and bank facés NPA

(2) * Exchange rate and interest rate |

(3) Public and private sector

(4) Rich and poor

S B ﬂ%‘ﬁ g e & aed ®

@ mwﬁmmw%qwﬁqwmm%

() R & T o T

+F mayagte too

i
.ssum b 8 2 K :in ) 4 s
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17. | Multidimensional poverty in India is measured by NITI Aayog using

(1) Headcount ration : (2) Gini coefficient

(3) Import cover (4) ‘Alkire-Foster Index

WA H TGAEE P @ mem AR oW amw R WM @ R
S 87 | '

(1) o T ST 2 Rt e

(3) SIHI e (4) SAH-FRR GobiD

18.

High Powered money (H) is measured by :

(1) Currency in circulatioq + Vault cast of banks + Banker’s deposit
with RBI “

2) Cur\rency' in circulation — Vault cast of banks + Banker’s deposit
with RBI |

3)- Currency in circulation + Vault casf of banks — Banker’s deposit
with RBI | '

| (4) Currency .in circulation —Vault cast of banks — Banker’s deposit

with RBI

| 5= TR AT (D) A e o @

1) Wﬁgm+§ﬁﬂ%ﬁﬁﬁﬁﬁ+maﬁaﬁﬁ§ﬁmﬁm
(@) o § ga1 — St B R T + R R o ¥ ¥t @ Pl

| @ = % a1 + 39t % Bl 758 — o R o ¥ ¥t o B

@ = ¥ ga — F @ R Tl — o & o ¥ ¥4 a7 Py
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19. |Money demand in Keynesian theory depends on

(1) Income and interest rate

wabsl o
Pr1ce and mterest rate

p ;!"'\

' A.(3) Exchange rate and 1mport

(4) Exchange rate and interest rate
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21. Slowdown in India will occur when

(1) Growth rate of GDP declines but it is more than zero for two

consecutive Quarters

(2) Growth rate of GDP declines but it is less than zero for two

consecutive Quarters
(8) Growth rate of GDP becomes equal to zero

(4) Growth rate becomes negative for two days

AR 7 e t dift iy g9 SN o

(D) S0 A IR R o ¥ g o R R g A o o
@) Gﬁsﬁﬁaﬁq@ﬁm%wwﬁmmﬁﬁﬁgﬁﬁmﬁ
(3) St 2 Gt i g W I B =T & RN -

@ & T R F A s & o R

22. | One of the following items should be included by India in its GDP
(1) Sale of second hand scodter : “

2 Rent earned by India property owner in Moscoyv

(8) Remittance received by Indian worker in Canada

(4) Value of motor cycle produced by German conipany in Bihar

o o @ feae 9Ra @t ot & @ § afRe R s i
1) FPE L et A [

(2) 9RA & TR Al &7 A § i R

(3) R i G Bl & 51 o

(4) aﬁqmﬁmmﬁwﬁaﬁﬂmwgm

PG-EE-July-2025 (Economlcs) Code-D
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Question W u
: ———
;I;: When growth rate of W and at lt:}:'::‘)l?ngth
rate is 10%, what is inflation rate (Using GDP deflator me
1) 4% @fpo%
@) — 4% 4) 16%
o T T S ) g 6% B A g A I T 10%E
a1 iRy o ¥ (e R Ry 1 ST F)
(1) 4% 2 5%
@) —4% ' 4 16%
24, |When Cash Reserve Ratio (CRR) is reduced, there will be an
immediate effect as '
(1) Decrease in money supply
(2) Increase in rate of interest rate
3) Increase in inflation target
(49) Increase in credit creation by banké :
ST e SRFE SFIUA (CRR) S/ Sl 8, & aehifees 1 &y
(1) a1 oyl F
@) . &N R B R F EIE
3) T W D T A G|
@) S 3 " fir § gf
© 25. | Interest rate in Taylor rule is related with =Xl
(1) Fiscal deficit @ P |
(3) Inflation and output gap @) Bnmary dleficit
BT ¥ A T @ udget deficit
(1) BT o :
/ 3) T Eﬁh::r S :.(2? SR ey
- T @ e

y 1t ;
(10) ““"’i‘% **} Blos




Question Questions
No. : '
26. | Cost-push inflation is caused by rise in
(1) Profit _ : (2) Cost
(3) Revenue .(4)’ Income
A-SRa a1 T ﬁmﬁ qi%a' % T A %
(1) Sk . (2) SING
|® o i @ o™
| 27. |(In WhJ.Ch phase of the busmess cycle, the cychcal unemployment w1]1 be
. higher? .
L6)) Boom"""'_ e | _ - © Expmsion
(3) Peak 7 s e C Recessmn
,Wﬂ%ﬁﬁmwﬁ,mﬁmﬂmm
@ BT (2) ﬁm
@ ﬂr@r( "'74)%‘“"' f;‘ B
28, e

|0 “stonaown

'(3) Full emplg

I‘FI -s(ﬂq

_,ésd ’
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in the economy?

29.

What do you mean by current account surplus
(1) Import becomes more than export

(2) Country is net borrower from abroad

(3) Country is net lender to the rest of world

(4) Exchange rate depreciates

a@wﬁwmm%waﬁm%
(1) Frfe ) oREn ST e & S €
@ 29, RN ¥ g5 SuRE o §

@) 3, A9 fasa B S FORTN e

(4) R X 1 ST B

——

30.

When India experiences capltal mﬂows, the Indian currency will
(1) Depreciate ' (2) Appreciate

(3) Unchanged (4) Inconvertible

S AT F Yol bl SFiare B ¥, T AR H P T H:

(1) & e @ &

(¢ ohaa et TR 8

31.

When a new series is connected with the old series, it is known as
(1) Base shifting , ' 2 Backward splicing

3) Forward splicing (4) Weights

o 5 g i % 7 A 2, 7 e ¢

(3) SBRTHN fasror ; @ WK

©

——
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32. | Laspeyre’s Index number possess
(1) Downward bias (2) Upward bias
(3) No bias ‘ ‘ ~ (49 Both upward and downﬁzard
ARG & GEHH & oA &
V) WA Mg @ R AR gEE
(3) FE FoA T @ FRH A A AR
33. | Probability of type-I error is called ‘
(1)" Size) s mii: (2) Critical region
(3) Level of mgm.ﬁcance £ (4) Blue colour region
eR-1 3R 3 il %‘ﬂﬁﬂ % i ‘
(1) STER G o W‘?ﬁ
® T (@ dwos
34. |The arithmetic and humoﬁc' me‘ans‘ of two numbers are 5 and 3.2
respectlvely, what is geo ‘etnc mean? .
(1) 0.8° :
| s2 © 8
A gt asraﬁﬁi" | 8, sl e
o, iy
1 o. 8 5
(3) 8 2

| P'G-EE-July-2025 (E
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No. Z

35. | When correlation coefficient r = 0.6, what will be coefficient of
non-determination?
(1) 0.4 2 064
(3) 0.36 (4) 0.003
o TEEE T ¢ = 0.6 ¥, W Fufer IUw H rm?
1) 0.4 @2 0.64
3) 0.36 - (4) 0.003

36. | What is the limitation of product of two regression coefficient?
(1) Zero to infinity (2) ‘Lessthan zero
(3) More than infinity (4) Less than unity
3 T o B O B W T e
1) & 8 @ Wl
(3) o | e 4 THR A B

37. |When Y = 3X + 4 is the regression coefficient of Y on X and
arithmetic mean of Xis — 1, what will be arithmetic mean of Y? |
1 1 | S e
@) 3 O
,WY,“XWWWW'Y= 3X + 4 B U X F GHRR A —1 T,
Y o G A A i
M 1 oy
3 3 R s e (3 Bl

PG-EE- July-2025 (Economlcs) (i?ge-n : ...v;;-,;‘.w:ufl;)"-!'ﬁf?;if a

7 % IS
C "

39.

40.

PG-EE-
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38. | The Binomial distribution is symmetric when

1) P=1 @ P=1/3
@) P=1/2 4 P=1/5

i?qa fareeT S & g, &

1) P=1 e @ P=1/3
3) P=1/2 | @ P=1/5

39. Whén mean and mode of a distribution are equal, what will be value of

skewnesé?
M1 5 g T
@) Zero . BT N g

m@ﬁwwmwwwa ﬁrﬁwarmqﬁwam?

M) T T R R i
s T L T
SRal e ow

When r=0, the Cov(x, y) wﬂl be
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41. | Stolper-Samuelson theory suggests that trade liberalisation

(1) Harms all factors of production

(2) Benefits labour and capital

(3) Benefits abundant factor of production

Q;@wmmemmm@w%
d-ﬂ¥@mmmwmmm@m%

I e i (4) Benefits scarce factor of production |

Il (ﬁmhwﬂwwwﬂ%mmﬁm |

i ;?@mWWMWMﬂW@W% }

i R SLARSY iR,

i |

i ‘
1
i

&
Eﬂf@mm@ﬂm@m%
|

e (A e
2 vy 'y Ay ~ ;
A R R e
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In Ricardian model, the international trade is caused by
(1) Differences in labour productivity
(2) Differences in exchange rate

(3) Differences in capital stock

| (4) Preferences

’m%mﬁm@#waﬁww%:
(1) M IUEHT § IR
2 R R o

@) T B § o

@ mﬁm&

44,

() Ohhn

Who has developed product hfe cycle theory” of international trade?
(1) Raymond Vernon 7 prraide

2 Adam Smlth_: - ‘ Sikis
(3) Rlcardo




Question
No.

Questions

45.

46.

. dto
Bilateral trade flows, under gravity model, are directly relate

(1) Exchange rate
(2) Political alliance
(3) Comparative advantage

(4) Size of economies and distance

TR Hied S T, fawla @R e g g
1) R Y

(2) SIS ToaweT
(8) TEIHD T
@) Sl F T @ o

In Constrained optimization, the Lagrangian function is used to

(1) Transform constrained problem into unconstrained one

(2) Transform revenue into expenditure
(3) Solve unconstrained problems

(4) Solve mequahty

ST STy ), aﬁﬁmwmmmaﬁmm%
@) Wmﬂwﬁaﬁqﬁaﬁam

(2) W FH =g § sEEE

@) = R qHEn B oEw wE

4) amtrﬁarmmmwm

PG_EE-July-2025 (Economxcs) C deu-DuB {ani-
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47. | For what purpose the Hexian Matrix is used?

(1) To determine utility
(2) First order condition

(3) To determine concavity or convexity ofa function
(4) To get slope of budget line

o8 FRe1 & R AR @1 5@ A

(1) SHART &1 Frafer Hr

(2) T¥¥ #9 # 9 ,

() TF T Pl I AT ST H FrHROT
(4) S W B T H YA HET

48. | What will be marginal rate of substitution of utility function U XY =

X2 yb? :
(1) ah - @ xfy
(3) ay/bx (4) ax/by
ST %A U (X,Y) = xavbﬁﬂhwaﬁmﬁww@’m
@) L abigks ~ 2 =y
(3) ay/bx % 4) ax/by

- 49. |Saddle pomt in a Pay off matnx In game theory implies
(1) General equilibrium - (@ Nash equilibrium
(3 Maximin B ) Mininay
@amﬁ&mﬂmﬁﬂmmwm%
(1) | g ' - Aw wgw
(3) Afrfm Wk Gy (4) RIELES

PG-EE-July-2025 (Econpmics)' Code:]_) % Pl
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50. | A quasiconcave utility function implies
(1) Convex indifference curve (2) Concave indifference curve
(3) Linear demand curve 4 Decreasing returns to scale
o S ST ST e & S E
(1) SUd Tl 9sp | (2 eqaaaama%
(3) Y@ T @ g e
51. | Selling government security in Open market operation leads to

] '(4) Rlse in forelgn exchange reserve

(1) Decrease in money supply
(2) Increase in money supply

(3) Rlse in mﬂatlon

ﬁmﬂqﬁgﬁﬁ%ﬁmmm%
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53. |In Friedman’s modern Quantity theory of money, the demand for

money is a function of

(1) Income

(2) Asset
(3) Interest rate

(4) - Permanent income and return on assets

SHISHT % TT % oMy Riera #, g1 & A5 e ©
(1) o F

2) SRR &

@) TN RH |

@ ST SRR T s

64.

Liquidity trap occurs when

(1) Interest rate rises and people want to hold cash

2 - Interesf rate becomes very low and people want to hold cash
(3) Interest rate risés a level where people want to buy bonds

(4) Central bank prmts excess money
AR T 7 o B o

) WRW%W‘WMWW%

2 mﬂa@'mam%aﬂr@wmmﬂwﬁ%
3) m'«wwwm%wmm@ﬂwa@%
@) %ﬁqhaﬁﬁﬁgmm%

PG~EE-J uly-2025 (Econom.lcs) Code-D
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When reserve ration falls, the money multiplier will
(1) Increase (2) Decrease

(8) No change ' (4) Become zero
oS bR STIU FH BN B, YET Job A

(1) g el @ waEr
| (3)-“5%%?‘?[‘*@@7” @) @g"rsfram

According to Té.ler rule, the central bank adjusts interest rate based

on
(1) Political objective
@ Inflation
3 ’Exchapge rate

@ Output growth and inflation target deviation

i
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58. | The great divide year of Indian demography history is
(1) 2011-2021 (2) 1911-1921
(3) 1757-1857 4) 1991-2001
RIG SHifbhid Sfier & Hefawe ay @ ¢
(1) 2011-2021 : (2 1911-1921
(3 1757-1857 ' (4) 1991-2001
59. |[The GDP growfh rate of post independent India became negative in
(1) 2019-2020 ; (2) 2020-2021
(3) 2021-2022 @ 2014-2015
ARG 3 TN 9E SHEt R T 9 AR OIS & T o
(1) 2019 - 2020 | (2) 2020 — 2021
(3) 2021 - 2022 (4) 2014 — 2015
60. |According to Reuters poll, Forec,asted India’s GDP growth rate for

| 2025-2026 is

(1) 6.4% (2 6.5%

@) 7.4% R i B S (7.0%
m%aﬁm%aﬁm waﬁvﬂmq&ﬂmzozs 26 % @ T
T ST ¥ : _

1) 6.4% e 65%

3 7.4% Tl @ 73%

PG-EE-July-2025 (Economics) Code‘e-',D‘l,f Fer m 1}
S @) G A e
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| 61. | Harrod-Domar growth model emphasizes on

(1) Human capital

l \
‘M (2) Natural capital accumulation
']‘ : (3')' ‘Savings and capital output ratio

it : (4) Labour force growth
| |3 R ew R T e
. w @ gSll T
| 4 (2) ngm it H W
S (3) aaaqagvhwmagqraqr

capita output growth in the long run

ltal R Bour ratio
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63. | AK. Model shows that growth can be continued in the long run without
(1) Technological progress (2) Population growth
(3) Government intervention (4) Human capital accumulation
T&. Hiew i ¢ b ddwm § R Frefoiea & oo & & g @ ¢
(1) TRl ST (2) SMEE gia
: () T TEEy @ WFa G §=
64. | Capital accumulation under Golden rule of Solow’s Growth Model
maximises
| (1) Consumption per worker (2) Revenue per person
(3) Wages per worker (4) Interest rate
TN % b Afew & TiveT & B STl Yoit Hed STfemaH BT 3 B ¢
1) R =R ST . @ ofr SR o '
3) §fT HfH worgd @) I
65. | Kaldor facts primarily describes about

(1) Long run economic growth regularities
(2) Short run economic growth .

(3) Trade cycle

(4) Demand side fluctuation

FiER & Tl § @ ®7 § U R ¢

(1) e o gie Pttt

(2) BRI 5 T A &

(3) AR = H

(4) w9 D SeEE W@

PG-EE-July-2025 (Economics) Code-D
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66. | Steady state level of capital accumulation 1n Solow model is ac eye

when
(1) Capital per worker is remain constant

(2) Savings per person is constant
(38) Output per worker is maximum

(4) Savings is equal to investment

@ﬁhmsaﬁgvﬁﬁawmﬁmmmaammm%m:
(1) o =fE g Re) @ @R

(@ i =R T Rex e B

(3) i i S SHaH Bl o

@) v AT P TET B B

67. | “Knife edge” problem is associated with
‘ (1) Solow model (2) Harrod-Domar model
3) AK. Model (4) Ramsey model
“Trg, P GR” TN e 8 0,
1) dR AT @ ReIm A
@ ud A@d (@) TRAMWE
68. | Who formulated first time the theory of comparative advantage?
(1) Paul Krugman = '(2)..\. David Ricardo
(38) Hecksher . . (49 Singer
geers A 1 R Hﬂwr ﬁa‘fﬁ LN R
@) e Fwe s (2) S fRepret
@ FEsiE A (4_) RFR
PG—EE—July-2025 (Economlcs) Code-D\ ¥ 3& T
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69. | According to Heckscher-Ohlin (H-O) theory, a country will export goods

that use
(1) Imported technology (2) Own technology
(3) Abundant factor intensity (4) Comparative advantages

SRR-SMER (0-H) Rera & ogar, a8 39 awgel & Fafd e o gam
HCl &

(1) Ao debris | (2 Wi F THD

(3) YT PR el 4) FeoH T
70. | Which theory is contradicted wigh Leontief Paradox?

(1) Adam Smith (2) Ricardo

(3) H-O theory (4) Product life cycle theory

9 W R i ﬁfremm Pl GUST YT &7

(1) u=¥ foqy P) Reprel

3) TE-3 R @) SUE Sied =% RE
71.

When Central Government increases its expendxture, what will be its
effect in IS-LM model :

(1) IS curve will shift left ward

(2) LM curve will shift right ward

(3) IS curve will shift right ward

(4) BothIS and LM shiftleft ward =

T 3 TR ST 2 ¥ IR e B, A 6 IS-LM sq R 1 S S
1) IS % i@ &R Rewm

@ LM 3% Tt oK Regd

@) IS T T oK Rewadm

(4) IS T LM % A1 & T oic Ryt

PG-EE-July-2025 (Economics) CodeD
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2.

- | Monetary policy will be moré effective in 1S-LM model when the LM is

(1) Vertical

(2) Downward sloping

(3) Horizontal

(4) Steeper

IS_LM Hfeq & A AR a9 ot s 3 o LM Ed @
(1) w=ag

). T & R I awdl

3) &S

(4) % S

73.

Long Run Aggregate Supply (LRAS) curve,will shift to left side when
1) Ht}man capital increases H |

(2) Infrastructure investment rises

(3) Labour productivity increases

4) Capita.l.‘stock destroys - ;

i G O (LRAS) 9% it ST R i i

(1) G R

() T S R T %

(3) & STEHA Ercif

(4 G BF T B e

PG;EE-J uly-2025 (Economics) Code-D
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74. | Under variable exchange rate system, the expansionary monetary

policy will lead to

(1) Capital outflow

(2) Currency depreciation

(3) Rise in investment

(4) Capital outflow, currency depreciation and rise in investment

IRecHsi fafva & gl ¥, e Aie i 9 8
1) Yo Fr afer

@ T S

(3 faw ¥ afx -

@) Goit SR, FaT oraTw aun PRy ¥ gfe

75.

On the basis of Mundell-Fleming model and perfect capital mobility,

what would you like to suggest

(1) Monetary policy is more effective than fiscal policy when there is
fixed exchange rate

) Fiscal policy is more effective than monetary in fixed exchange rate

(3) Monetary policy is eﬁ'ectii'e in fixed exchange rate

| (4)° Fiscal policy is ineffective in fixed exchange rate

@aﬁmmwﬁﬂmﬂm%ww Y FT FAE o

qq< HOI?

(1) mmﬂﬁwmmﬂmmmmmm
2 ©

@) wmaﬁmﬁmmmmmm%

@) Rer R  § ARF AT T B &

@ Rex Rfg & % o A o &

|
PG—EE-July-2025 (Economlcs) Code-D
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76.

| (4) Regulate oil price.

| What is the primary function of IMF?

(1) Long term loan for infrastructure |

(2) Promote free trade
(8) Exchange rate stabi]ity and short term balance of payment

support

T .UH.T%. 1 it e @ &7

(1) TR SR % R e

(2) WA UK & IGET &

@) R & Rerar qor SRapiRs I T qadd
(4) I B Bl B FEA |

11.

| @ smtm?fasrmqﬂ

What is the primary function of WTO?
(1) Money lending to member nations

(2) Military support to member nations 7

(3) Free and fair trade among member nétlons (’L
(4) Regulate labour standards x
oo & o a1 T A R

(1) T 39 B o IER A
(2) TaE 3 F AT TEET
3) am%sﬁ%qmﬁaawmw

| PG—EE—July—2025 (Economlcs) CodoD) sl
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78.

In floating exchange rate regime, the depreciation of domestic currency

leads to

(1) Increase import and reduce export

(2) Leaves trade balance unchanged -

(3) Increase export and reduce import‘

(4) Changes interest rate

Siet RfFTT & aEen #, W @ B T &
(1) oW & g qer i § w0 e &

(2) NN Hger TaRafkid el 8

3) ﬁﬁaﬁq@wmﬁﬁéﬁ%

(@) =™ T gRakia ekl @

79. .

Marshall-Learner condition states that currency depreciation is

effective when
(1) Sum total of elasticity of import and export'; is more than one

(2) Sum total of export and import elasticity is less than one
(3) Sum tpta] of export and import elasticity is equal to one
(4) Export is equal to import

AT S et & B BRT o ST a9 S 8N o

(1) ST T Frfd A g B o o @)

(@) o gl @ A ga et @ @ w9 Q)

®) mﬁwﬁuhaﬁé\aﬁaﬁam@%wa

‘(4) ﬁqfﬁahamﬁws‘r

PG»EE-July—2025 (Economlcs) Code-D
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80. | Which sector contributes highest share in India GDP?
(1) Agriculture 2) Industry
(8) Service (4) Mining
A & 8 WRA @ N § i AeE AT 87
1) FW 2 &
3) @) &
81. | The proportion of population engaged in working activity together with
unemployed people, is called
(1) Unemployed labour force (2) Labour force
(8) Work participation rate (4) Gini coefficient
SR A 3 T R w9 @ FE F  SHe oI e 8
(1) SASFIR 3| AR @) 9 v
(3 =™ @ @ P
82. | The third state of production begins when

| @ @ﬁmsﬁqﬁﬁfgﬁﬁﬁr%wmw.

(1) Total production starts falling but MP is positive

(2) TP starts falling and MP <0

(3) TP is highest but MP <0

4) MP starts falhng B

SR i el TR I8 2 & o

€) @ﬁmmm{ﬁm%mmﬁwmg

(3) %W S SR Bl & TG MP <0
(4) MP %A S @ 8 &

PG-EE-July-2025 (Economlcs) (20&)9—D
: 32
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83. Value of constant returns to scale in Cobb—Douglas production function
is
(1) Unity (2) Zero
(3) Infinity (4) Equal to APC
HIT-STAH AT Fo § I & ReX ARt 1 A & @
(1) IFE B TR | @ g9
(8) ST : @ T 9 (APC) % S
84. Find the macroeconomic variable among followings
(1) Price of a pen (2) Demand of a pen
(3) Income of a professor (4) National income
it & e o =X A AR
(1) T ¥ A F @ W R A
(3) T SIHE &l I (4) T
85. | Gross Domestic Product measures

(1) Government e:‘:‘pendituré

(2) Consumption
(38) Total value of financial assets

(4) Total value of goods and services produced in a country
T BN SE AUl &
(1) HGThIT & 4

| @ sg

(3) P REERA # &9 AW
@ qas%sr%%ﬂmmﬁaqﬁaﬁaﬁw@mﬁw%ﬂw

PG-EE-J uly-2025 (Econonncs) Code-D
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What is unemployment rate?

(1) ‘ Workforce divided by total population

(2) Unemployed number divided by workforce

(3) Unemployed number divided by total population

(4) Dividend population divided by workforce
AT Gl R0 |
loy aga aaa@m @r ﬁwﬁa mﬁera
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When marginal propensity to save is 0.25, what will be Keynesian
multiplier? ;

(1) 4 | | @2 5

3 2 4 8

; mwﬁ@wwozﬁ B BT I T B

e R @, 5

3 2 (d)Es=8

Increase in money supply i in the long leads as

e (1 ngher inflation (2) Higher interest rate

1 3 @ Credit control ' (4) Riseintax
'~:‘1._aaa;ma;_gmangﬁﬁqmawama°r%

2) Wnﬁamfa?
@ A I

‘equal to zero

for two days
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When 3% change in the quantity demand occurred with Unit elastic

supply curve, how much price will change?

() 0 @ 1%

&) | @ 2%
ﬁfgélaﬂﬂ‘&ﬁ%wmwwﬁmmqﬁaﬁaﬂ% & @ A

| ferem trﬁa?h 2rTT?
1) 5% @ 1%

@) 3% il " @ 2%

MAXIMIN strategy in the game theory refers to ; .
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93. |In a Cobb-Douglas production function with constant return to scale,

# (1):‘;“

when capital is increased by 5% but labour is constant, the output will

Increase more than 5%

@
@) -

(1) Remain constant

(3) Increase equal to 5% Increase less than 5%

.-hﬁ%muﬁwmﬁm-mmwﬁ aama?rﬁmw%g&

gshirs%a%aﬁa%maﬂ% & I
f @) 5% q F T3

5% d FH T

R e }r

@

monopolist is p = 250 — Q and the cost

What will be maximum possible profit

T % C = 100 + 50Q ¥ |
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Questions

The industry supply and demand functions are Q. = 500P - 250 and

Q= 4000 — 400P. What proportion of the benefit of the subsidy will

be passed to consumer when the government gives sub81dy of 0.5 per
unit? |

(1) 55% ' 2 b56%

l@ et (4) 68%
G@W%iﬁWWWQs—SOOP 250 T Qu = 4000 — 400P 2

M%mﬂmmqu@mmmqﬁmﬁ%ﬂ
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Quﬁfon Questions
97. The marginal utilities of goods A and B are 600 and 900 and price of
good B is Rs. 120. Find the price of good A if the consumer is in
| equilibrium.
| (@) 50 5 (2)BN60
3 80 @ 90
a@AWBﬁmﬁmﬁmeoowsoo%wm@Baﬁw
5. 120%|qﬁmmﬁ%aAm§aﬁaﬁqﬁaﬁW|
.(1) 50 (2) 60 ;
3 8 4 90
98. | What w1ll be Learner’s measure for a monopohst whose marginal cost

@ 4
@ 1
2 B A T P AT =7 8 ?
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